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Question Number : 1 Question Id : 2752283412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

ANK, XLJ, UJI, RGH, OFG
Options :
1. = XLJ
2. % ANK
3. # OFG
4. ¥ RGH

Question Number : 1 Question Id : 2752283412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3hH fear T 8, ford § U ug Tad ¢ | 3T T fawed! & 9 39 7Tad ue &I gfu|

ANK, XLJ, UJI, RGH, OFG
Options :

1. * XLJ

2. % ANK

3. * OFG

4. ¥ RGH

Question Number : 2 Question Id : 2752283413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

P16R, U23K, Z32D, E43W, ?
Options :

1. *= P54]

2.9 J56P

3. % K56P

4. % P54K

Question Number : 2 Question Id : 2752283413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3 foar T B, Ford @ U ue g 21 fau T faswed & ¥ 98 el fased gfe, St 3igehd o T |

P16R, U23K, Z32D, E43W, ?
Options :

1. # P54)

2.9 J56P

3. ® K56P



4. % P54K

Question Number : 3 Question Id : 2752283414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Tailor

2. # Driver

3. ¥ Car

4. % Professor

Question Number : 3 Question Id : 2752283414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRed us # fau e fasbedl # 9 favw Teg o1 gHT|
Options :

1. % golf

2. #® QTR

3. ¥ DR

4. % TIHhER

Question Number : 4 Question Id : 2752283415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Red : Colour :: Teacher : ?
Options :

1. ¥ Profession

2. # School

3. # Education



4. * Chalk

Question Number : 4 Question Id : 2752283415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforRad oy & fau 7o fowedl & @ Safda wsal &1 gl

AT : T 2 ATYD : 2
Options :

1.« gaaryg

2. % faermery

3. % fRem

4. % IiHh

Question Number : 5 Question Id : 2752283416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.

(JRP, SUM, PXV)
Options :

1. ¥ (MNB, ERP, SUH)
2. ¥ (AZR, UCD, GFX)
3. # (PRC, FUS, UXI)
4. % (DPA, DSG, JWG)

Question Number : 5 Question Id : 2752283416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa uy & el &1 ue Iug e T 8 | de® THg & 3R I IHE & 31eRl & wry fryg ad/Maudey 3 gefia g1 fad e
fqemedl T 9 31&RI & Uh g B! T Il THMH dob/FaH/ e BT SIERUT Bl B



(JRP, SUM, PXV)
Options :

1. # (MNB, ERP, SUH)
2. ¥ (AZR, UCD, GFX)
3. # (PRC, FUS, UXI)
4. ® (DPA, DSG, JWG)

Question Number : 6 Question Id : 2752283417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘I have a dream’ is written as ‘Iq po nz wy’, ‘You and I have work’ is written as ‘zp dl 1q po uw’. What is the code for
‘have, 1’ in that code language?

Options :
1. ¥ polq
2. % uv wy
3. % nzlq

4. % pouv

Question Number : 6 Question Id : 2752283417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fafRIY B8 UMW T, I have a dream’ &1 ‘Iq po nz wy’ ﬁ’l@TGﬂTﬂ%, “You and I have work® &1 ‘zp dl 1q po uw’ forar ST 81 S DS U
| ‘have, i’ WWW%‘?

Options :

1. ¥ polq

2. % uvwy

3. % nzlq

4. % pouv

Question Number : 7 Question Id : 2752283418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a person in a photograph, Ranjana said, “He is the only son of my father”. How is that person related to Ranjana?
Options :

1. ¥ Brother

2. # Father

3. ¥ Nephew

4. % Uncle

Question Number : 7 Question Id : 2752283418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TR H U fGd Pt 3R Gobd B U, I5HT1 A FHel “ag TR a1 &1 U I3 87 | 98 fad 91 ¥ fh g IR Teifdrd g2
Options :

1. TS

2. % fUdr

3. % ST

4, % HMHI

Question Number : 8 Question Id : 2752283419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven persons P1, P2, P3, P4, PS5, P6 and P7 are to be allotted a room in a hotel. There are seven rooms numbered 101, 102, 103, 104, 105, 106
and 107. One person is to be allotted one room. P3 is to be allotted room numbered 106. Room numbered 102 and 107 are not allotted to P1 and
P7. P4 and P6 are to be allotted room numbered 104 and 101 respectively. Room numbered 105 is not to be allotted to P5 and P7. P2 is to be
allotted odd numbered room. Which of the following statement is NOT correct?

Options :

1. # P1 is to be allotted room numbered 105
2. ¥ P5 is to be allotted room numbered 107
3. # P7 is to be allotted room numbered 103

4. % P35 is to be allotted even numbered room

Question Number : 8 Question Id : 2752283419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Id SAfET P1, P2, P3, P4, P5, P6 TYUT P7 &1 Ueh Bled H Ush HHRT AT ST § 1 101, 102, 103, 104, 105, 106 TUT 107 TAT ATl ITd HH & |
U fdd B! Had Tb HHRT TSI 8 | P3 I HHI HHIDB 106 fGATSMT G 1 107 TUT 102 TS 9T HH P1 YT P7 B gl fed S 81 P4
YT P6 BT HHTT: 104 TUT 101 TAT AT HHI T ST @1 105 BT ITAT HHRT P5 AUT P7 1 Ta1 fa1 ST 8 1 P2 Y Ao+ T3 aret
ST fear o 8 | FRufeiad & @ &9 31wy Il T8t 82

Options :

1. % P13l 105 T HHI AT ST &

2. P5 I 107 T HH AT 1 8

3. % P73 103 T HHI &1 ST §

4. % p5 Pl gH T I HHI &1 ST &

Question Number : 9 Question Id : 2752283420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven boys A, B, C, D, E, F and G are sitting in a row facing towards the north (not necessarily in the same order). D is fifth to the right of A. D
is not at any of the ends of the row. Only two boys are between G and E. F is third to the left of B. F is exactly in the middle of the row. G is not
the immediate neighbour of F.

Which of the following statement is correct?

Options :

1. * Only two boys are sitting between A and C.
2. % Only three boys are sitting between G and B.
3. #* D is to the immediate right of B.

4. % C is second to the right of A.

Question Number : 9 Question Id : 2752283420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TSP A, B, C, D, E, F AT G U Ufad & IR $1 3R & FRb 96 U B (SR 181 b1 3T HH A 8N D, A & Sl 3R Uiad ™M WR
BIDUR & PR NSRRI B GIVEF A Fad Al dSPH & | F, B S TRl IR AR VAR B Fufdd & e T d 81 G, F &7
Apear usif 78t 81

faferiad 7 9 & 91 oy I8t 82

Options :



1. % ATYIC H U HId &l ASP 96 gU Bl
2. % G AYTB & T Had di- 98P 93 gU R |
3. % D, B % qd gl 3R B

4.9 C,A D I NG VA WG|

Question Number : 10 Question Id : 2752283421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some mobile are watch.
II. No watch is laptop.

Conclusions:
I. No laptop is mobile.
II. Some laptop are not watch.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 2752283421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR SAUING & 56y 3T T4 § | 3T T H2=1 &1 981 A, 918 S8 Qg 1 9
3 oz 81t e o ofk fsR fReifa &% i fou o o O s, fou U syl & smuR &R gfaasa g

HY:
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fsen:

L. P H ey, Aiasd T8 3

II. $B AU, T3 T8l ¢ |

Options :

1. % PHad FpY [ SFIER0T el §

2. ¢ Had 5B 11 IR0 Hal §

3. % QAT S 1 T 11 3FIRRUT A ©
4. % DIz W} FIoHY SR 8 R §

Question Number : 11 Question Id : 2752283422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All F are M.
II. No V is M.

Conclusions:

I. Some F are not V.
II. Some M are F.
III. AIl V are F.

Options :

1. ® Both conclusions II and III follows
2. ¥ Both conclusions I and II follows
3. # Only conclusion I follows

4. % All conclusion follows

Question Number : 11 Question Id : 2752283422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 fU T Uy O 58 Y 3R 39D 918 3 Bl IR MR & (s U MU 1 3T T Hy=! Dl 91 9M, 3Te 379 Aa= J1d a2t
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Options :

1. % QI FShY 11 TUT 111 3II¥R0 Hd §
2. ¢ ST ISR 1 YT 11 SRR R B
3. % Had fApY [ SaR0 HdT |

4. % 1} FIsh Y SFRRUI R §

Question Number : 12 Question Id : 2752283423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 71-17
2. % 83-38
3. % 6446
4. ¥ 6118

Question Number : 12 Question Id : 2752283423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T Uy # TR Jem gm feu M 1 () % It 3R < TS T/ (1) ot 3R & TS Tem ¥ fpht adh frm ddy @ gt g1 e
I TP dh/FomAdy & YR IR 90 g | iU 7 fawedl & & faww &1 gfu|



Options :

1. % 71-17
2. % 83-38
3. % 64-46
4. ¥ 6118

Question Number : 13 Question Id : 2752283424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

17, 33, 64, 128, 246
Options :

1. ¥ 128

2. % 17

3. % 138

4. % 246

Question Number : 13 Question Id : 2752283424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3gepd far man ], Forw § v e 7Tad g | fou e faswedt §f 9 39 ed ug & gHu|

17,33, 64, 128, 246
Options :

1. ¥ 128

2. % 17

3. % 138

4. % 246

Question Number : 14 Question Id : 2752283425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many four neither seven nor eight?

Four Eight
>
/2|11
8 9 /3 l\
/ 6/ 4
Seven 7

Options :
1. % 10
2. % 7
3. %8
4.9 6

Question Number : 14 Question Id : 2752283425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e IR =1 o 1 AT &Y 33 82

Siny /km
e
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8 9
7 6// 2 \

Options :
1. % 10
2. % 7




3.% 8
4.9 6

Question Number : 15 Question Id : 2752283426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement(s) is/are correct?

I. Total number of black are 32.
II. Number of cups which are red, are 10.

Red
16\ *
/N3
Black
Options :
1. % Only I
2.9 Only II

3. % BothIandII
4. % Neither I nor 11

Question Number : 15 Question Id : 2752283426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T 3 3@ F YR R, FAufiEd # ¥ $19 91/8 Sy I8 2/

L. FIAl & Hd T&AT32 B
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Options :

1. % Had 1

2. ¢ HAd Il

3. % [ UGl
4. % AT I

Question Number : 16 Question Id : 2752283427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car goes 7 km in north. It turns right and goes 24 km. It finally turns left and goes 3 km. How far is finishing point from starting point?
Options :

1. ¥ 26 km

2. % 28 km

3. % 22 km

4. % 24 km

Question Number : 16 Question Id : 2752283427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% R 7 {6 1. IR A A 81 98 Sl 3R gl § aut 24 fob 1t Il 81 98 ofda: St ok gacit € aur 3 foo. . St g1 sifaw fofg,
RIS fig A feat Qw2

Options :



Question Number : 17 Question Id : 2752283428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L is 20 km to the south of B. J is 28 km to the south of T. A is 10 km to the west of B. J is 25 km to the east of L. If R is 31 km to the east of B,
then how far is T from R and J is in which direction from A?

Options :

1. #* 10 km, North-West
2. % 10 km, South-East
3. % 12 km, North-West
4. % 12 km, South-East

Question Number : 17 Question Id : 2752283428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L, BY20 fh . RO AR, T 28 fhM. RO A1 A, BR 10 fH M a3 &R 1, LY 2s oM @i gI gl R, BY 31 . g@ o g,
AT, RIYPaNI R aurs, A A fpafemndgr

Options :

1. % 10 fob 01, STR-UgH

2. ¢ 10 fop 1Y, aferorgd

3. % 12 fed, ITR-ulgyg

4. % 12 fo 1ft, gfRorgd

Question Number : 18 Question Id : 2752283429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :



1.¢¥
2. %
™
L 4
3. %
4, %

Question Number : 18 Question Id : 2752283429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRaa uy . fau T fawedl & @ favm sefa o1 gu)

Options :
# \4”




2. ®

M
W

3. %

Question Number : 19 Question Id : 2752283430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?




3. ®

423 ﬂdhﬂ

Question Number : 19 Question Id : 2752283430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Uy Pl | fCETT SFAR HTS & AR wa- aul Wi & a6 98 [y SR SHTH I ol @ g

reeeey

FRIENE

R .- —————

Options :
Ubal

, » LASEA]



Question Number : 20 Question Id : 2752283431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Options :
N
s AL

Y
~\ A

A

3.¢



/<4
1

Question Number : 20 Question Id : 2752283431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T IR ATHIA U MBI & Uiy D T HM?
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Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 21 Question Id : 2752283432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Onam belongs to the state of
Options :

General Awareness

2
275228100

General Awareness

275228190
1

Online
Mandatory
20

20

20

Yes

1
275228226
Yes



1. ¥ Kerala
2. % Karnataka

3. % Telangana
4. # Maharashtra

Question Number : 21 Question Id : 2752283432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T I I TSR B

Options :

1. ¥ R

2. % FlcH

3. % QAT

4. % HERTY

Question Number : 22 Question Id : 2752283433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Jaisalmer?

I. Junagarh fort
II. Gagron fort

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 22 Question Id : 2752283433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgffead & ¥ & I/ TR waaik # G g/82




|ASGIRIT

1. TR foeam
Options :

1. % FHadl

2. % Had Il

3. % [ UGl
4. TRIIATRII

Question Number : 23 Question Id : 2752283434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT correct regarding World trade Organisation (WTQO)?

I. The objective of the WTO is to establish a rule based trade regime to ensure optimum utilisation of world resources.
II. The WTO was founded in 1985.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 23 Question Id : 2752283434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRed Fu=/@y= 8 1 91/ fay IR W Ssgdish) & daH § 98t T8l /87

1. fa%y IR W16 H1 I T a9 SUTRT IR a1 R d3ab 3% & 11 &1 S¥ad ST gHfYd HA1R |
1. SIS BT RITTAT 1985 H g3 |

Options :

1. % Hadl

2. ¢ HAd Il

3. % [ 3RS




4. % AL ATAN

Question Number : 24 Question Id : 2752283435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding the role of RBI in Indian economy?

L. It is the controller of money supply.
II. RBI acts as a banker to the Government of India.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 24 Question Id : 2752283435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifad Sy/myEl § B FIA YR srfcqawl § R3S o1 it & da & T8l 3727

. 98 &I 9fd &1 a9 5|
1. 3RAI3MTE HRT TRPR & T Tp dh & U A Hrf Hrar g

Options :

1. % Had |

2. % Had I

3. ¢ 1 3R 11 g
4. % AL ATAN

Question Number : 25 Question Id : 2752283436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which base is found in lime water?
Options :



1. # Ammonium Hydroxide
2. % Calcium Hydroxide
3. % Sodium Hydroxide

4. % Potassium Hydroxide

Question Number : 25 Question Id : 2752283436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A & UM H DIF AT &R U7 OI1l 87
Options :

1. % AT gESINES

2. ¢ BRI TSRS

3. % ifeuy grRgires

4. % Q1eROA RIS

Question Number : 26 Question Id : 2752283437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Speed of sound in solids > Speed of sound in liquids
II. Speed of sound in liquids > Speed of sound in gases

Options :

l. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 26 Question Id : 2752283437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ $Y9 I8t 8/8?



1. 3 ¥ @ @ 91 > g9 § @i o 9
1. gd ¥ eafa B 9 > 19 § @iy o 9

Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 27 Question Id : 2752283438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Prokaryotic cells lack nuclear membrane.
II. Plant cells have a number of small vacuoles.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 2752283438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefEd & ¥ o9 91 By 981 82

1. MR HIRIHT & Fxb Rradt rufRud gidi 81
11, UTGT HIfRIDT H 3 BIcI-Biet RigaeTd gidl g

Options :

1. ¢ Had |
2. % BHad I
3, % [qUT I EHl



4. % qIEIATIBI I

Question Number : 28 Question Id : 2752283439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Narmada basin covers the part of

I. Gujarat
II. Madhya Pradesh

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 28 Question Id : 2752283439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THeT St & P U A faxga g

. ToRTd
1. AU

Options :

1. % Had |

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I

Question Number : 29 Question Id : 2752283440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?



I. Average height of troposphere is 13 km.
II. Fog and hailstorm occur in troposphere.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 29 Question Id : 2752283440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

I &HHSd B! 3d Hars 13 fe 1t B
11 BIET T Sy aiyHse § gl 2|
Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 30 Question Id : 2752283441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In , rows of trees are planted to check the wind movement to protect soil cover.
Options :

1. ¥ Shelter belts

2. ®% Contour ploughing

3. # Intercropping

4. % Contour barriers

Question Number : 30 Question Id : 2752283441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

_ H ue A 1 b & 7T gl AR H @I S § <f1fch HaT SMTaRUT 1 ST S Feb |
Options :

1. ¢ &b HE s

2. % ARG Jdig

3. % §f Dl BOd I

4. % gHERRAN AfIHTY

Question Number : 31 Question Id : 2752283442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sati was banned in the year

Options :

1. % 1825

2. % 1827

3.9 1829

4, % 1831

Question Number : 31 Question Id : 2752283442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl R ay H areidl o <t Tt ot
Options :

1. % 1825

2. % 1827

3. ¥ 1829

4, % 1831

Question Number : 32 Question Id : 2752283443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following city/cities fire altars was/were found?

I. Kalibangan
II. Lothal

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 32 Question Id : 2752283443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafeid & 9 o ¥ we/eme’! # sifiipus i 4

1. IS
1. A
Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 33 Question Id : 2752283444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) of Governor General and their time period is/are correct?

I. Lord Dalhousie — 1848-1856
II. Warren Hastings — 1773-1785

Options :
l. % Only I
2. % Only I



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 33 Question Id : 2752283444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraffad 3§ @ & 918 g Ta-R SR 3R 37 UG- STd & GeH 7 Tel 3/

1. dlS SogIol — 1848-1856
11 IR 8Re™ — 1773-1785

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 34 Question Id : 2752283445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has written the book 2014: The Election that changed India?
Options :

1. # Sudhir Chaudhary

2. # Prannoy Roy

3. ¥ Rajdeep Sardesai

4. % Ravish Kumar

Question Number : 34 Question Id : 2752283445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2014: f& SAHTH ¢e dore sfear g fam ot

Options :

1. % gefiR ey



2. % YUY
3. ¢ JIEIY YRS
4. % AT HAR

Question Number : 35 Question Id : 2752283446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Headquarters of Asian Development Bank are located in which country?
Options :

1. # Thailand

2. # Indonesia

3. # Malaysia

4. ¥ Philippines

Question Number : 35 Question Id : 2752283446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Secyde ddb BT GEATd DI 4 o= H e 82
Options :

1. % YIRS

2. % SSHRME

3. % HARE

4. ¢ Tofaiftg

Question Number : 36 Question Id : 2752283447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state has launched the Namma Cargo Services in February 2021?
Options :

1. % Tamil Nadu

2. ¥ Karnataka



3. #® Kerala
4. % Andhra Pradesh

Question Number : 36 Question Id : 2752283447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TREX! 2021 H {68 YRTIT I9 = T BT a1 A1d b1 g2
Options :

1. % qfierg

2. & BHICH

3. % PR

4. % YT

Question Number : 37 Question Id : 2752283448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of article — contents of Indian constitution is correct?

I. 153 — governors of state
I1. 156 — appointment of governor

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 37 Question Id : 2752283448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRS TfAUT BT 3vq - 3fiavg &1 FAufaad § o9 a1 gm Tt 82

1. 153 — Idl & IauTd
11. 156 — ISTUTd Dt Fgfaa




Options :

1. Hadl

2. % Had Il

3. % [ UGl
4. % GBI

Question Number : 38 Question Id : 2752283449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to seat of supreme court?
Options :

1. % 108

2.9 130

3. % 148

4, % 164

Question Number : 38 Question Id : 2752283449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT HAUT BT B AT 36 Sadd AraTed &1 R § Faferd g2
Options :

1. % 108

2.9 130

3. % 148

4. % 164

Question Number : 39 Question Id : 2752283450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the mens single title at US open 2020?
Options :



1. # Alexander Zverev
2. % Dominic Thiem
3. % Rafel Nadal

4. # Roger Federer

Question Number : 39 Question Id : 2752283450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, 31U 2020 BT GFY Udhdl RIdTdl fobe Sfam
Options :

]. % Tddoier Savd

2. ¢ SIS 4

3. % el TS

4. % IR BSR

Question Number : 40 Question Id : 2752283451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

1. Manika Batra — Table Tennis
II. Deepika Kumari — Shooting

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 40 Question Id : 2752283451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RISt — e 1 Fufifad § J &1 91 g™ wel 52



1. AT &3 - ¢9d ¢
11. faftet $urt - gfc
Options :

1. ¥ $had |

2. % Had I

3. % [ qUTI M

4. % qGIIATRIII
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Sub-Section Id : 275228227
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752283452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
: (1Y 9°
What is the value Df:(ﬁ](il](.i][_—J[_]
N4,
Options :
1. % 144
2. % 45
3.¥ 54
4. % 63

Question Number : 41 Question Id : 2752283452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&

O35 | 3o o1 war

Options :
1. % 144
2. % 45
3. 54
4. % 63

Question Number : 42 Question Id : 2752283453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest three digits number, which when divided by 6, 12 and 15 leaves no remainder?
Options :

1. ¥ 120



2. % 150
3. % 180
4. %= 210

Question Number : 42 Question Id : 2752283453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3! Bt T BICT TS T 5, o 6, 12 T 15 Y TIHTIIT H3A R PIS AT 5! Sl
Options :

1. ¥ 120

2. % 150

3. % 180

4. % 210

Question Number : 43 Question Id : 2752283454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of (6.5 x 6.5 +45.5 + 3.5 x 3.5)?
Options :

1. ® 10

2. % 50

3.4100

4. % 150

Question Number : 43 Question Id : 2752283454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(6.5 % 6.5+ 45.5+ 3.5 x 3.5) BT A T 82
Options :

1. * 10

2. % 50

3.4100



4. % 150

Question Number : 44 Question Id : 2752283455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following numbers is completely divisible by 99?
Options :

1. # 330768

2. % 111537

3.9 131769

4, % 244944

Question Number : 44 Question Id : 2752283455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforied & I o T Tve gofa: 99 § faursa &2
Options :

1. % 330768

2. % 111537

3. ¥ 131769

4, ¥ 244944

Question Number : 45 Question Id : 2752283456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference between the biggest and the smallest fraction among EHEE@
17 13 11 19
Options :

17
| % 121



19
, % 312

18
3 @ 221

21
301

Question Number : 45 Question Id : 2752283456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1311 9 15 ey & wawy a2 o way ©1F f&ie &l 37X &7 27

17°13°11°19
Options :

17
1 % 121

19
, % 312

18
3 @ 221

21
. 301



Question Number : 46 Question Id : 2752283457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the average of first 8 multiples of 3?
Options :

1.¥ 135

2. % 15

3. % 12

4. % 14

Question Number : 46 Question Id : 2752283457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 % UGS 8 OIS &1 3Td T 82
Options :

1. ¥ 135

2. % 15

3. % 12

4. % 14

Question Number : 47 Question Id : 2752283458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 15 percent of N + 80 = 31 percent of N, then what is the value of N?
Options :

1. * 400

2. % 450

3. % 500

4. % 550

Question Number : 47 Question Id : 2752283458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g N BT 15 UFA=IT + 80 = N &7 31 UeI=Id &, T N BT A 1 52
Options :

1. # 400

2. % 450

3.9 500

4. % 550

Question Number : 48 Question Id : 2752283459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radius of a sphere is increased by 20 percent. What will be the percentage increase in its volume?
Options :

1. # 60 percent

2. % 70 percent

3. ¥ 72.8 percent

4. % 90 percent

Question Number : 48 Question Id : 2752283459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TId D1 BT & 20 TR ¥ TS I § | 39 AT H fha= ufa=d &1 gi gifte
Options :

1. % 60 Ufa=rd

2. % 70 gfa=rd

3. ¢ 72.8 Ufa=Id

4. % 90 gfa=rd

Question Number : 49 Question Id : 2752283460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person bought 50 pens at the rate of Rs. 40 per pen. He sells 30 pens at a loss of 20 percent. If profit of 40 percent is earned on the all pens



together, then what will be the profit percentage on the remaining 20 pens?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 130 percent

2. 100 percent

3. 150 percent

4. 120 percent

Question Number : 49 Question Id : 2752283460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdd 3 50 TUT Ui U7 1 a3 40 T TS| I8 30 U 20 Ufarwrd &1 g1 W S=rar g1 afe gt U7 W ez 40 ufa=id &1 v wAmn
T g, O A 20 U R AT Ufa=rd 1 g

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 130 gfa=rd

2. 100 Ufa=rd

3. 150 Ufa=rd

4. 120 gfa=rd

Question Number : 50 Question Id : 2752283461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx : y=5:2, then what is the value of (5x + 2y) : (5x — 2y)?
Options :

1. % 30:19

2. % 31:19



3.4 29:21
4.%19:9

Question Number : 50 Question Id : 2752283461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g x:y=5:28 A (5x+2y) : (5x — 2y) BT AT T 82
Options :

1. % 30:19

2. % 31:19

3.¥29:21

4. % 19:9

Question Number : 51 Question Id : 2752283462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the expenditure and savings of a person is 5 : 4. His expenditure increases by 1/5 of his initial savings and his income increases by
Rs. 32. If his savings remains the same, then what is his initial expenditure?

Options :

1. * Rs. 80
2. % Rs. 200
3. % Rs. 160
4. % Rs. 120

Question Number : 51 Question Id : 2752283462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Afdd & T TUT T BT U 5 : 4 B | STDT T D! SR T & 1/5 T §¢ Il § a7 STD! 3171 32 39U I §¢ 1l g1 IS
YS! §Id I I8t 8, dl BT YRS 0 T 82
Options :

1. % 8039
2. 200 3T




3. % 160 ST
4. % 1203500

Question Number : 52 Question Id : 2752283463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a certain sum of money becomes thrice of itself in 7 years 4 months at simple interest, then what will be the annual rate of interest?
Options :

1. # 26.68 percent

2. ¥ 27.28 percent

3. % 30.26 percent

4. % 29.28 percent

Question Number : 52 Question Id : 2752283463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 99 4 TEHT H RN SIS R U i Wiy g 1 <fi= 1701 g1 ot &, ot <ot &1 arfties <R gl
Options :

1. % 26.68 Ufa2rd

2. ¥ 27.28 Ufa=Id

3. % 30.26 Ufa=d

4. % 2928 TfRId

Question Number : 53 Question Id : 2752283464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train of length 375 metres crosses a tree in 25 seconds and crosses another train of the same length travelling in opposite direction in 30
seconds. What is the speed of the second train?

Options :

1. ¥ 10 m/s
2. % 20 m/s
3. % 15m/s



4. % 12 m/s

Question Number : 53 Question Id : 2752283464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 375 Hiex Al ThTTS! Uh &1 Bl 25 YHUS T IR dxall § aul fausid fa=m & 9 38t THH dars o guRl Yaa! &l 30 9608 H UR
BT B | TR XS Y TIf T B2

Options :

1. ¢ 10 HLA.

2. % 20 WA

3. % 15HLA.

4. % 2HLA.

Question Number : 54 Question Id : 2752283465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sumit rides his vehicle at the speed of 45 km/hr but stops for 18 minutes, to change parts at the end of every 15 km. How much time will be taken
by him to cover a distance of 225 km?

Options :

1. # 6 hour 18 minutes

2. % 9 hours 12 minutes
3. * 5 hours 9 minutes

4. % 4 hours 27 minutes

Question Number : 54 Question Id : 2752283465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GRYT 37oAT aTe 45 fob 1t /et ot 71f § Traran 8 g U 15 fob 1t & ofd H goif &bt e & forg 18 fire & faw wwar g1 225 fop .
D1 G 99 A B b gRT foba-1 0y feran s

Options :

1. % ¢dc 18 firFe

2. ¢ 94 12 fiHe




3. % 54c 9 e
4. % 49¢27fiMe

Question Number : 55 Question Id : 2752283466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L alone can do a work in 30 days. M alone can do the same work in 45 days. With help of N, they finish the same work in 15 days. In how many
days can N alone do the same work?

Options :
1. % 45
2. % 60
3. 90
4. % 120

Question Number : 55 Question Id : 2752283466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L 3ol Ueh BT &1 30 o1 H = Tohell 51 M bl 31 BT Bl 45 T B B Thdl ¢ | N B Aeg I 98 341 S &1 15 [G7 J SR a9
g1N bl 3 1 Bl fban g H o Tl 82

Options :

1. % 45

2. % 60

3.490

4.% 120

Question Number : 56 Question Id : 2752283467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Length of one diagonal of a rhombus is 10 cm. If side of thombus is 13 cm, then what will be length of another diagonal?
Options :

1. ®* 36 cm

2. % 18 cm



3. % 12cm

4. % 24 cm

Question Number : 56 Question Id : 2752283467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS [0 & Ue fasmul &1 arars 10 9.1, 31 afe fawaeior &t 4o 13 3.4, §1 o fawol &t avars @ gefte
Options :

1. % 36 7.4l

2. % 1894

3. % 294

4. ¢ 2499

Question Number : 57 Question Id : 2752283468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Curved surface area of a solid cylinder is 3520 cm?. Height of the cylinder is 20 cm. If cylinder is melted to firm sphere whose radius is 2 cm,
then how many of spheres will be formed?

Options :
1. ¥ 1470
2. % 735
3. % 1570
4. % 785

Question Number : 57 Question Id : 2752283468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 31 S¢- BT dsh GBI &6 d 3520 Q.12 | S &1 S 20 9.1, g1 9 97 o1 fraares: Mia = 7 §, foet Bear 2 9.1 8,
ot foba TTel §1TT STaE?

Options :

1. ¥ 1470

2. % 735




3. % 1570
4. % 785

Question Number : 58 Question Id : 2752283469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pie chart given below shows the amount spent on maintenance of seven houses. Total amount spent on all the seven houses is Rs. 148000.
Amount spent on maintenance of a particular house is shown as a percent of total amount spent on all these seven houses.

Which of the following statement(s) is/are correct?

I. Central angle formed by sector H6 is 43.2 degree.

II. Total amount spent on maintenance of H3 and H4 is Rs. 50320.

III. Amount spent on maintenance of H2 is greater than H1 by Rs. 8880.

Options :

1. % Only I

2. % Il and III
3. % Tand II

4. ¥ 1,11 and III

Question Number : 58 Question Id : 2752283469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fear mar orE ard A1d eRi & ERETd R G B TR AR B G=id 5 | Gy 61 W R W D1 TS e MR 148000 IO 7| ot fafkry
TR P WA R T 1 T3 A P 37 T+ 1 R R T D1 T8 Hd A1 & Ufa<d & =0 § feamar mn g




P 3 3 oF 9/ $UT I8 8782
1. H6 P TUS GRT I1T1 7T hied Hivr 43 .2 f&ilt g1

I1. H3 YT H4 & TERETd TR T D1 7Ts Ha A 50320 39U g |
11 H2 & Y/RWTd TR G I T3 AR H1 F 8880 T HTUF g |

Options :

1. % Had 1

2. % I dYTIII
3.% 14T
4.4 1 11 dUT I

Question Number : 59 Question Id : 2752283470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the production of sugar (in lakh tonnes) by two companies A and B over the years.



80
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30

0
25

2009 2010 2011 2012 2013
OA @B

Which of the following statement(s) is/are correct?

I. The difference between the production of company B in 2010 and company A in 2009 is 5 lakh tonnes.

II. Ratio of the average production of company A to the average production of company B in the given year is 28 : 29.
III. The percentage increase in production of sugar of company A from 2011 to 2013 is 175 percent.

Options :

1. % Only 1

2. % Only II

3. % Both I and II
4. % Only III

Question Number : 59 Question Id : 2752283470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fear o gus fo & dufaat A 9uT B gRT aut § T 1 IdTe (ARd < H) guifan g |
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Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % FHad I

Question Number : 60 Question Id : 2752283471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the number of mobiles sold by two shops A and B in a week.
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Which of the following statement(s) is/are correct?

I. Average number of mobiles sold by shop B per day is 338.

II. On Sunday, the number of mobiles sold by company A is 14.28 percent more than B.
II1. Ratio of number of mobiles sold by company A on Sunday and Thursday is 5 : 8.

Options :

1. % Only I

2. % Both I and II
3. % Both II and III
4. % I, Il and III

Question Number : 60 Question Id : 2752283471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Had 1
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Question Number : 61 Question Id : 2752283472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We are looking (1)/ forward to have (2)/ a picnic together. (3)/No error (4)
Options :

1. * We are looking

2. ¥ forward to have

3. * a picnic together.

4. % No error

Question Number : 61 Question Id : 2752283472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We are looking (1)/ forward to have (2)/ a picnic together. (3)/No error (4)
Options :

1. # We are looking

2. ¥ forward to have

3. % apicnic together.

4. % No error

Question Number : 62 Question Id : 2752283473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many are of the view that (1)/ monetary policy should give (2)/ greater weightage to growth. (3)/ No error (4)
Options :

1. # Many are of the view that

2. # monetary policy should give

3. % greater weightage to growth.

4. ¥ No error

Question Number : 62 Question Id : 2752283473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Many are of the view that (1)/ monetary policy should give (2)/ greater weightage to growth. (3)/ No error (4)
Options :

1. # Many are of the view that

2. % monetary policy should give

3. % greater weightage to growth.

4. ¥ No error



Question Number : 63 Question Id : 2752283474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Not only did she cook food for him also but ate with him.

Options :

1. # but even
2. ¥ but also

3. % in fact also

4. ¥ No Improvement

Question Number : 63 Question Id : 2752283474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Not only did she cook food for him also but ate with him.
Options :

1. # but even

2. % but also

3. ® in fact also

4. ¥ No Improvement

Question Number : 64 Question Id : 2752283475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

To make our kids successful we must focus on there holistic development.




Options :

1. # its

2. # his or her
3. ¥ their

4. ¥ No Improvement

Question Number : 64 Question Id : 2752283475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

To make our kids successful we must focus on there holistic development.

Options :

1. # its

2. * his or her
3. ¥ their

4. % No Improvement

Question Number : 65 Question Id : 2752283476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Scientists have limited knowledge of the causes of the hangover.
Options :

1. ¥ meeting

2. ¥ leading

3. ® creating

4. % superior

Question Number : 65 Question Id : 2752283476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Scientists have limited knowledge of the causes of the hangover.
Options :

1. % meeting

2. ¥ leading

3. # creating

4. % superior

Question Number : 66 Question Id : 2752283477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Vrinda is looking forward to you.
Options :

1. % meets

2. % met

3. # meeting

4. ¥ meet

Question Number : 66 Question Id : 2752283477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Vrinda is looking forward to you.
Options :

1. * meets

2. # met

3. * meeting

4. ¥ meet



Question Number : 67 Question Id : 2752283478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Research has

P: to a longer

Q: coffee consumption
R: also linked moderate
S: life span

Options :

1. ¥ QPSR

2. % SQRP

3. * SPQR

4. ¥ RQPS

Question Number : 67 Question Id : 2752283478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Research has

P: to a longer

Q: coffee consumption
R: also linked moderate
S: life span

Options :

1. ¥ QPSR

2. % SQRP

3. % SPQR

4. ¥ RQPS

Question Number : 68 Question Id : 2752283479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: perhaps in no other form of art has the creator become to such an extent prisoner
Q: of his creation, to which he may be locked for his lifetime; it becomes in a real

R: be continued by other artists if its originator should die or lose interest in it

S: sense independent of his own existence, for the successful strip will almost always

Options :

1. ¥ PQSR
2. % PSQR
3. ¥ QRSP
4. ¥ SQRP

Question Number : 68 Question Id : 2752283479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: perhaps in no other form of art has the creator become to such an extent prisoner
Q: of his creation, to which he may be locked for his lifetime; it becomes in a real

R: be continued by other artists if its originator should die or lose interest in it

S: sense independent of his own existence, for the successful strip will almost always

Options :

1. ¥ PQSR
2. % PSQR
3. ¥ QRSP
4. ¥ SQRP

Question Number : 69 Question Id : 2752283480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Encourage
Options :



1. % Criticize
2. % Urge
3. ¥ Condemn

4. % Constitute

Question Number : 69 Question Id : 2752283480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Encourage
Options :
1. # Criticize
2. ¥ Urge
3. % Condemn

4. % Constitute

Question Number : 70 Question Id : 2752283481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Apprehensible
Options :

1. % Discernible
2. % Fathomable
3. % Appreciable
4. ¥ Inexplicable

Question Number : 70 Question Id : 2752283481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Apprehensible
Options :

1. # Discernible
2. # Fathomable
3. % Appreciable
4. ¥ Inexplicable

Question Number : 71 Question Id : 2752283482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Prelemenary

2. ¥ Preliminary

3. # Preliminery

4. # Prileminary

Question Number : 71 Question Id : 2752283482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Prelemenary

2. % Preliminary

3. # Preliminery

4. % Prileminary

Question Number : 72 Question Id : 2752283483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.



Options :

1. # Inheritance
2. # Orientation
3. ¥ Regardlees

4. % Translation

Question Number : 72 Question Id : 2752283483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. * Inheritance

2. # Orientation

3. ¥ Regardlees

4. % Translation

Question Number : 73 Question Id : 2752283484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Money to burn

Options :

1. # Above materialistic desires
2. % Money in great abundance
3. % To be in a zen state

4. % To become free from

Question Number : 73 Question Id : 2752283484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Money to burn

Options :

1. # Above materialistic desires
2. % Money in great abundance
3. % To be in a zen state

4. % To become free from

Question Number : 74 Question Id : 2752283485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To crook an elbow
Options :

1. #¥ A conman

2. # To cheat somebody
3. # A naive person

4. ¥ To drink excessively

Question Number : 74 Question Id : 2752283485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To crook an elbow
Options :

1. # A conman

2. # To cheat somebody
3. % A naive person

4. ¥ To drink excessively

Question Number : 75 Question Id : 2752283486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Having qualities or characteristic of ox or cow
Options :

1. # Canine

2. #* Feline

3. ¥ Bovine

4. % Herd

Question Number : 75 Question Id : 2752283486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Having qualities or characteristic of ox or cow
Options :

1. * Canine

2. * Feline

3. ¥ Bovine

4. * Herd

Sub-Section Number : 2
Sub-Section Id : 275228229
Question Shuffling Allowed : Yes

Question Id : 2752283487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Research published in the journal Hindawi in 2018 stated that 11 percent of the total Indian population (that accounts for around 42 million
people) is suffering from hypothyroidism. It’s an alarming situation as that means that more than one in every 10 Indians is suffering from a
dysfunctioning thyroid.

The thyroid is a butterfly-shaped gland located at the front of the neck, right below Adam’s apple. It helps regulate many body functions by



constantly releasing a steady amount of thyroid hormones into the bloodstream.

Thyroid dysfunction can present itself either as hyperthyroidism or as hypothyroidism. Hyperthyroidism occurs when your thyroid gland
produces too much of the hormone thyroxine which accelerates the body’s metabolism and may lead to various changes in the body including
weight loss. Hypothyroidism is marked with decreased production of thyroxine leading to slowing down of the metabolism, thus, causing weight
gain and cold insensitivity.

Scientists believe that thyroid dysfunction may alter carbohydrate metabolism by influencing insulin in such a way that it results in the
development of type 2 diabetes mellitus and vice versa. They also believe that for individuals who have prediabetes and low thyroid function,
diabetes treatment or lifestyle adjustments (like proper diet and exercise) could be prompted in an earlier stage.

They further stated that thyroid treatment should be started for people with both subclinical hypothyroidism and prediabetes to prevent the
chances of getting type 2 diabetes.

Sub questions

Question Number : 76 Question Id : 2752283488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. ¥ Informative

2. % Sarcastic

3. % Analytical

4, % Pessimistic

Question Number : 77 Question Id : 2752283489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the central idea of the passage?

Options :

1. % To inform about various consequences of thyroid dysfunction on our body.
2. ® To analyze various researches conducted for thyroid dysfunction.

3. % To give a brief idea about thyroid dysfunction and its types

4. % To understand the complexity of the thyroid gland in our body.



Question Number : 78 Question Id : 2752283490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the phrase ‘Adam’s apple’ as mentioned in the given passage?
Options :

1. # Front part of the neck with apple in the throat.

2. % Back part of the neck consisting of spinal cord.

3. # Front part of the brain constitutes Adam’s apple.

4. ¥ Itis a lump of cartilage that sticks out from the throat.

Question Number : 79 Question Id : 2752283491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true about hypothyroidism as per the given passage?
Options :

1. # It is marked with decreased production of thyroxine.

2. # It causes weight gain in the person.

3. ¥ Hypothyroidism accelerates the metabolism of the body.

4. % Tt also increases the cold insensitivity.

Question Number : 80 Question Id : 2752283492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be concluded from the given passage?

Options :

1. ¥ Thyroid dysfunction should be taken seriously.

2. # Proper diet is mandatory in thyroid dysfunction.

3. % Type 2 diabetes is harmful for health.

4. % Hypothyroidism needs more attention than hyperthyroidism.

Question Id : 2752283487 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following information carefully and answer the given questions.

Research published in the journal Hindawi in 2018 stated that 11 percent of the total Indian population (that accounts for around 42 million
people) is suffering from hypothyroidism. It’s an alarming situation as that means that more than one in every 10 Indians is suffering from a
dysfunctioning thyroid.

The thyroid is a butterfly-shaped gland located at the front of the neck, right below Adam’s apple. It helps regulate many body functions by
constantly releasing a steady amount of thyroid hormones into the bloodstream.

Thyroid dysfunction can present itself either as hyperthyroidism or as hypothyroidism. Hyperthyroidism occurs when your thyroid gland
produces too much of the hormone thyroxine which accelerates the body’s metabolism and may lead to various changes in the body including
weight loss. Hypothyroidism is marked with decreased production of thyroxine leading to slowing down of the metabolism, thus, causing weight
gain and cold insensitivity.

Scientists believe that thyroid dysfunction may alter carbohydrate metabolism by influencing insulin in such a way that it results in the
development of type 2 diabetes mellitus and vice versa. They also believe that for individuals who have prediabetes and low thyroid function,
diabetes treatment or lifestyle adjustments (like proper diet and exercise) could be prompted in an earlier stage.

They further stated that thyroid treatment should be started for people with both subclinical hypothyroidism and prediabetes to prevent the
chances of getting type 2 diabetes.

Sub questions

Question Number : 76 Question Id : 2752283488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the given passage?
Options :

1. ¥ Informative

2. % Sarcastic

3. % Analytical

4. % Pessimistic

Question Number : 77 Question Id : 2752283489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the central idea of the passage?
Options :

1. # To inform about various consequences of thyroid dysfunction on our body.



2. % To analyze various researches conducted for thyroid dysfunction.
3. ¥ To give a brief idea about thyroid dysfunction and its types
4. ® To understand the complexity of the thyroid gland in our body.

Question Number : 78 Question Id : 2752283490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of the phrase ‘Adam’s apple’ as mentioned in the given passage?
Options :

1. ® Front part of the neck with apple in the throat.

2. % Back part of the neck consisting of spinal cord.

3. % Front part of the brain constitutes Adam’s apple.

4. ¥ It is a lump of cartilage that sticks out from the throat.

Question Number : 79 Question Id : 2752283491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true about hypothyroidism as per the given passage?
Options :

1. ® It is marked with decreased production of thyroxine.

2. % It causes weight gain in the person.

3. ¥ Hypothyroidism accelerates the metabolism of the body.

4. ® Tt also increases the cold insensitivity.

Question Number : 80 Question Id : 2752283492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be concluded from the given passage?
Options :

1. ¥ Thyroid dysfunction should be taken seriously.
2. % Proper diet is mandatory in thyroid dysfunction.
3. ® Type 2 diabetes is harmful for health.



4. * Hypothyroidism needs more attention than hyperthyroidism.

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Hindi

5
275228103

General Hindi

Section Id : 275228193
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228230
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752283493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad | ¥ T3 Wsg &1 IT4 ST



Options :

1. % T
2. % w@rff

3. % andt

4. YA

Question Number : 81 Question Id : 2752283493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafcRad | ¥ T Wsg BT IT BT
Options :

1. % TQIHEE

2. % w@rff

3. % @t

4. I

Question Number : 82 Question Id : 2752283494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few 7T 2Teg T THR 19 BT
Gsderar

Options :

1. * d3Y JHN

2. % G qA™

3. ¢ Sgdiig 99

4. % GYIHIG JATY

Question Number : 82 Question Id : 2752283494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T U Yeg, &1 THN J1d DT
PEEaL

Options :

1. % T3 U

2. % gg gAY

3. ¥ dgdife U™

4. % 3JATHG JA™

Question Number : 83 Question Id : 2752283495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad Srsal o ¥ sfetias foban J1d iy |
Options :

1. % 9l

2. % 3o-0

3. % G

4. % oG

Question Number : 83 Question Id : 2752283495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad 2rsal # ¥ sfetas foban J1d iy |
Options :

1. % 9[-l

2. % 361

3. % G

4. % forg

Question Number : 84 Question Id : 2752283496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o U Treaiw & fore Ifeid e &1 T g |
T 99 &1 Iy

Options :
1. ¢ Qe
2. % 3Hd!
3. % 99

4. % fafy

Question Number : 84 Question Id : 2752283496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tq g & forw I 2ee &1 T B
1 9y BT JHY

Options :

1. ¥ [T
2. % 24l
3. % I

4. % fafy

Question Number : 85 Question Id : 2752283497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 77T T & fore Ifrd Wsq &1 Tg Hifo|
3 d Yo Wl |

Options :

1. % AR

2. % AT

3. % fydf




4. ¢ 0

Question Number : 85 Question Id : 2752283497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U Ireaier & fore Ifeid e &1 T e
3Gd YR |

Options :

1. % ORI

2. % YA

3. % fdfx

4. ¢ UL

Question Number : 86 Question Id : 2752283498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7 g & Waifed Weg o1 yafgare) Wee J1d BT
3MHTY H FIed BTd o1 TTIR Iu gH & |

Options :
1. v ARg
2. % 3
3. % fa
4, % dUqy

Question Number : 86 Question Id : 2752283498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT U 9Ty B X4ifPd Wee BT AT Weg JTd BIFTT|
BT H SIed BTd 81 TTIR I8 gF & |



Options :

1. v HRg
2. % 3

3. % fa
4, % dUqy

Question Number : 87 Question Id : 2752283499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fere U =1eg g 1 WET Weq T 1A BT
3IYd : 31Yd
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. TR : T

2. 1Y ; Gt

3. 3191 : TR

4. AR 1Y

Question Number : 87 Question Id : 2752283499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Yo g 1 el Wsg i 1 BT

3aYd : Y
Note: For this question, discrepancy i1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :



1. JIER : T
2. 1Y ; Gt
3. 3191 : TR
4.ﬁ3T:HTﬂ

Question Number : 88 Question Id : 2752283500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PI I IaTER0T HHTT Hia=d BT 5|
Options :

1. ¥ B ghdr g, au &)

2. % el gHd S|

3. % g2 fayr g fos a8 ygar /|
4. % I HTH U B b1 |

Question Number : 88 Question Id : 2752283500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T IGTEXUN GHTT A FH1 g |
Options :

1. ¢ B &I g, W &

2. % Y gH SR

3. % g2 fayr g fs a8 ugar @
4. % g T JH HR I |

Question Number : 89 Question Id : 2752283501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foam a1 areRT foh g Uer BT ST §, JTd hifvIg|

T AT TAR" e




Options :

1. % gy

2. % gui g

3. % gidd &

4. ¢ TUTaTHS Ug

Question Number : 89 Question Id : 2752283501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam T a1 5 uet b1 IS8R 8, JTd BIfvT|

T A A WA G 5
Options :

1. % AUy

2. % qufueg

3. % gIay ugf

4. ¢ TRYqUTHD U

Question Number : 90 Question Id : 2752283502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRafaRad ot O @ Y a1 &1 999 Diford|
Options :

1. % gIh! o= ST T

2. % QI U DI ST AT

3. ¢ QWS

4. % TIh! TR & 1T ST T

Question Number : 90 Question Id : 2752283502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fRafaRad ot O @ Y a1 &1 99 Diford|
Options :

1. % JIh! o= ST T

2. % TP IR P ST UT|

3. ¢ QORI T

4. % TP TR o TeTT SITHT T |

Question Number : 91 Question Id : 2752283503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad arel & 4 Mg are J1d S|
Options :

1. % AR §9 Y IR 8l R I s US|
2. ¢ S T IR, R I g US|

3. % BHTY Y IR R N I g U |
4. % U TY Y IR 9oL Rl ard g U |

Question Number : 91 Question Id : 2752283503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofead gl & @ firy aro J1d S
Options :

1. % BUR 99 ¥ IR ol Rl a1l G US|
2. ¢ SR 9 IR, "R ad S US|

3. % gHTY Y IN R N I S5 US|
4. % gAY Y IR i e a1l s US|

Question Number : 92 Question Id : 2752283504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Iuged form fug &1 o+ Fifor |




CIACEIR BRI
Options :

1. ¢ f[qwafediy®

2. % Iufd™

3. % orgd

4. % Uydrad

Question Number : 92 Question Id : 2752283504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 o= pifor |

qTg foaTT 3iTHg S ETR |
Options :

1. ¢ fowarfeaiy®

2. % IUfaR™

3. % orgd

4. % YYdrddh

Question Number : 93 Question Id : 2752283505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged AR forg &1 =94 Hifor|
T 98 g GagRd At

Options :
1 % _
2.9,
3.% 9

4. % -




Question Number : 93 Question Id : 2752283505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 & Iuged form fug &1 w4 pifor |

o 98 dgd Gagd 1|
Options :

1. % —

2.9,

3. %9

4. % -

Question Number : 94 Question Id : 2752283506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 fadwed o1 oo 3 ot f3T 70 geTer & 31 &1 a9y ¥U ¥ oJad HRal g |

ST TR Belhd Sl

Options :

1. % T 910 B8 ol

2. ¢ 3 Afad BT IaRT B I
3. % A T TR D IRATE Tg! Bl

4. % DI HUC 7 G

Question Number : 94 Question Id : 2752283506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fadmen &1 7997 & S fou U geTark & 31 ol Ya9% U § oJad Rl ¢ |

YA TR SADd Sl
Options :

1. % gt 91d B8 e




2. ¢ 3 AT BT SA B IAT
3. % OId 1 TR ] URATE el D]
4. % B3 HYC = G

Question Number : 95 Question Id : 2752283507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 fawed o1 9o 3 o1 fT 70 JeTar & 3 &1 Jd9§ U I oJad HRal o |
Sl A HRAT

Options :

1. ¢ IR BT

2. % Td Y B HAI

3. % TIAHCIA BT

4. % g UPhc HAI

Question Number : 95 Question Id : 2752283507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8 9§, 39 fawed &1 999 o S faU 0 GgTak & 31l &1 9a98 ¥ ¥ ad Rl 5|
! Tt BHRAT

Options :

1. ¢ YR B

2. % O Y HH HAI

3. % TTAHCId HRAT

4. % UG Phe HAl

Sub-Section Number : 2
Sub-Section Id : 275228231
Question Shuffling Allowed : Yes

Question Id : 2752283508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (96 to 100)

TS TSI fam 1 § | TR o TR WR Uie U fau 7 § | TR &1 gdes Ue a1 A Uy H IR faded § § UE fadwen |

Oa-Sfia 3R ST gRI TTfed THTS YR & ¥ald g | 391 Rl Alfed, e, AT, a-H, aﬁ&n%?mmﬁ&nwﬁﬁwﬂ-ﬂ
g, 98 9 S 3R Aa-THTSl & U 81 8, I8 U idare Aradl § | S99 SR a1 916X $8 Ui 181 | AFd T 1o UTof | 98 SAfad
IR & TR W o & Y T, foaRdr 8iR HIa=T & WR IR Golidl ST 7, 9! 9d faiad a1 fafies gia i deardl gl 39
TP Bl S Sl § fob Tfeed aEcl: Siia AR THIS T UG ThR, 310 IRR 1 W0 o7 Af0r 52 iR 9w Sfia o1k wre!
ﬁﬁﬁwﬁmm%lﬁﬁﬁ%mm@?w%&wwﬁaﬁm TF FHR Gl g | G W A A G-,
T 1-feRaT 3R 3UA-3MTTeh! g¥RT IR Ydhe BT AT §, d+t T Iifg- HHl\ﬂﬁ&IQH UG ﬁu‘s’mlﬁaﬂ@%eﬁ?aﬁwﬁ?ﬂv
ENRIRGHIR ww%w@ﬁ@aﬁﬁaﬁaﬁ%ﬁ | ST P 9 Wit iR Waﬁrwuﬁm:rwww | A4 gfS &1
ﬂa‘%mﬂﬁéeﬁ?mdﬂwwmwm g1 ITH TP U g1 HTaTad aaTes Hiafdd TRf&d 8T axal g | 39 Ug-
SGDH HA-FHS ST AgX TR A o] 1 URWBR B2 Thdll 8| 59 YbR Fiee R Gwrel & fa-ufifia Hra a1 efl-am & day
Raifed far S eodT 8 | AFa-THTS & forw e feder) R gar gl

Sub questions

Question Number : 96 Question Id : 2752283509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a1 A Sudis 31 -1 T g2
Options :

1. % IR

2. % qHe

3. % 9

4. ¥ IR

Question Number : 97 Question Id : 2752283510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIHd 1 57

Options :

1. % HHN

2. % foRdA



3. ¢ grAToIE groft
4. % YaTfad daTie

Question Number : 98 Question Id : 2752283511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR SR THTS & e B T gl oIl 57
Options :

1. ¢ feRa

2. % Yfcfaes

3. % qAIR®

4. % GRSHR

Question Number : 99 Question Id : 2752283512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afec et uafsy A it 32
Options :

1. ¢ HglHdH

2. % YTagHUl

3. % TF-GA

4. % 3HlqlH-Ualq

Question Number : 100 Question Id : 2752283513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUed TR FT Sugad X 1 g
Options :

1. % HEd JHNS

2. % YIq g1 dIefl-GmH

3. ¢ AT 3R g

4. % JeH IIR



Question Id : 2752283508 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T T T | IR O STUR TR Ui Uy T 7Y € | I &1 e9Yad U aul Ui Uy H aR fawed § ¥ Tel fawed g |

OTa-Siia 3R 3T gRT Mfed THS TR & Yafe g1 38t SRl ifed, Fa, TH-fa5m, g2, of onfe wya o1 gen TR # &t oo +ft
g, 98 U9 S SR AHa-THTSl & fATE 81 8, 98 U (idare Aradl § | S99 SR a1 91ex $3 Ui 781 | AFd T 1o UTof § | 98 SAfad
IR & TR W o & Y T, foaRdr 8iR HTa=T & TR IR Golidl Hd1 7, 9a! 9d faiad a1 faftes gia e deardl gl 39
UhR gl ol Tohdl § [ Tled axd: S 3R JHS I TG AR, 30 YRR 71 W& &1 FHf0r 6 iR 98 T4 Sita 3R Jam
B! g1 i B feur Har 81 A9-21 B g Ufehar Tifiecd 3R THTS & MU Taeh ol URT: TP B Sat ¢ | T A AT = Fre1-fa=rR,
T 1-feRamT 3R 3TA-3HTUH] THRI UR Uehe 31 Uil &, aH I AIed-Tarst & SeM-UeH &1 g8 Uferar off 7d 1 § iR 99 dob FReR
Tl X, TS e fob TSl | Arem-faaRA 31fe & 3 0T @7 | 39 P ¥ Ao SR THS H1 Gaief Fad= Hal ol Tabdl § | A1-a Y &1
TN UTult § 3R IR ITh! AgTHaH IUdAfsd HHI T 8 | STH STBT 3T 81 HiaTdet dees ufafds TRféd g1 Hd1 g1 39 Ue-
CGH HT-THIST 30 g TR o Ysall bl URNEHR PR Jobdl g | 39 UHR e 3R TS H fSe-ufafss Hia a1 Sieh-gri &1 Jay
i foba S Yebell § | AHA-THTS & o0 I iede Rl R gidr 8|

Sub questions

Question Number : 96 Question Id : 2752283509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Od &1 HgHad Iudisd 31 71 T 82
Options :

1. ¥ JOR

2. % e

3. % 9

4. ¢ qiigd

Question Number : 97 Question Id : 2752283510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qa 1 5?
Options :



1. % JaS

2. % A

3. ¢ 1ol Uroft
4. % YaTfad AR

Question Number : 98 Question Id : 2752283511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 3R ATl & HeY D T B! oIl g2
Options :

1. ¢ feRaH

2. ® yfdfews

3. % qEIRS®

4. % UR&PR

Question Number : 99 Question Id : 2752283512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tifed bl Iuafsy A Tl 82
Options :

1. ¢ Hgl[ddH

2. % YIGEHH

3. % qH-ad

4. % 3lqld-Uald

Question Number : 100 Question Id : 2752283513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TR BT IUgad NSd FT G
Options :

1. # HMHEI JHNS

2. % YTd I edl-&H



3. A 3R A1fgd
4. % JHIIR

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 2752283514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Disciplinel

6
275228104
0

0

No

No

0

20

No

Disciplinel

275228194
1

Online
Mandatory
20

20

20

Yes

1
275228232
Yes



Which of the following is/are the objective(s) of the Gymnasium and Playground?

I. Motor education that shall function in promoting physical vigor
II. An awakening and expression of mental, moral and social feelings and states that shall lead towards fine qualities of citizenship

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 101 Question Id : 2752283514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad 7 ¥ o1 I1/2 TRITHRITET 3R Td & A B/ 3L 8/82

1. Hiex e f58 smifves wifdd &1 ggrar ¢4 H orf oA =nfeu _
1. AFRI®, Afde SR ATfore HIaTeT & S SR sifiefad ot S/aRim (eed) St ARl & 3w Ul &I 3R o St

Options :

1. % FHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 102 Question Id : 2752283515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘What physical activities are suited and may be beneficially used by the girls?’ For the given statement which of the following factor(s) is/are
considered?

I. Structure of their body
II. Nature of their development

Options :
1. * Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 102 Question Id : 2752283515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I IR Tiafafal Suged § 8iR Tefedl gRT aTHSR 0 J IUGNT &1 off Gl 32 3T T Y= & o Fafifia # 3w 3
HRS R AR far siar g/8?

1. 3% TRR B WA
1. 39 [dHT Bt Ui
Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 103 Question Id : 2752283516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding physical education teacher?

I. Physical education teacher must have adaptability and willingness to cooperate and work with others
II. The posture of the physical education teacher is extremely important because good posture is so highly valued in school children

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 103 Question Id : 2752283516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

RIS R e & Fasi # Fafeiad § 3 &1 918 SU= 981 o/8?

1. RIS e R T gERT & 1 Tga H 3R HTH B3 B 331 3R SIHT &Hdl g1 Aey
1. AT e fRreres &1 31 3id Ae@yul gidT § Fife Woelt sl B 3wy - &1 9gd Had (a1 Sl §

Options :

1. % Had I

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 104 Question Id : 2752283517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Overuse Syndrome’ can cause which of the following?

L. Irritability

II. Feeling of malaise

II1. Can affect eating pattern
IV. Sleep disturbances

Options :

1. % II, III and IV
2. % I, Il and III

3. % [Mand IV

4. 111, Il and IV

Question Number : 104 Question Id : 2752283517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mgy Rig & HRU FAgfifad § J o1 8§ ghar g2

1. frsfasaa
1. 3GRYAT BT HIGT



[I1. HISH & Ue &l UHIfad HR Johdl §
1v. fFgr gee g=nfaai

Options :

1. % 1L I dYT IV
2. % 1 11 dYT I

3. % [T dUTIV

4. 111, I dYT IV

Question Number : 105 Question Id : 2752283518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By which of the following way(s) prevention of Blisters is not possible?

I. Hygiene of the vulnerable parts should be meticulously maintained
II. Sensitive skin areas can be protected with adhesive plaster

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. ¢ Neither I nor 11

Question Number : 105 Question Id : 2752283518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 feg Reb/aie! @ BHid! &I AHUH THT T8l 82

1. {TITd TG YT &t TS dl &1 aUIgdd ST @] ST d1eT
1. Fag=iTa @t &5 &I foues- arel WiReR ¥ IRFard foar S 9adl §

Options :

1. % Bad 1
2. % BHad I
3. % [qUT ISl




4.« ATBIIATBII

Question Number : 106 Question Id : 2752283519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about Rehabilitation?

Options :

1. #® Rehabilitation should not commence until the heart rate and body temperature have returned to normal resting levels
2. % Rehabilitation includes both physical modalities and therapeutic exercises

3. ¥ Early Rehabilitation maximises the effect of injury

4. ® Rehabilitation should include exercises to promote strength, endurance, speed and coordination

Question Number : 106 Question Id : 2752283519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & T # Fafifed & ¥ 19 I oy 98 T8t 22

Options :

1. % YA 9 9@ Y -To! o dTeT oIF ddb [ gad T 3R IRR &1 T FH foRTH R OR a = 811 Sy
2. % gat & TR dR-cRid iR Ry s 3 Tt 8a §

3. ¢ YRS TG T & THTE BT B dH BT §

4. % YAy B yaedr, fafden, 7fa iR THaa &1 sgrar <1 & forg sy =nfird g9 @iy

Question Number : 107 Question Id : 2752283520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not the component of cytoplasm.

I. Golgi apparatus
II. Mitochondria

Options :
1. % Only I
2. % Only II



3. % Bothland II
4. « Neither [ nor 11

Question Number : 107 Question Id : 2752283520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YIS IwIToH &1 U -8l o

I. hgdh JUBIUI
I1. HISCIhigal
Options :

1. % Had |

2. % Had I

3. % [ UGl
4. TBIIATRII

Question Number : 108 Question Id : 2752283521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During exercise, the blood flow switches to about percentage to the muscles depending upon the intensity of exercise.
Options :

1. % 20 to 30

2. % 15t025

3. ¥ 70 to 90

4. % 40t0 50

Question Number : 108 Question Id : 2752283521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & SR, ST D1 dgdl & SMYR UR Iad BT YaTg FrgoRmE) & @rq Ufawrd g ST g |
Options :

1. % 20930



2. % 15925
3.4 70 9 90
4. % 40950

Question Number : 109 Question Id : 2752283522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pathophysiology of obesity includes which of the following factor(s)?

I. Genetic
II. Behavioural
II1. Psychological

Options :

1. # Il and III
2.9 1 Il and III
3. % Only III
4. % Only II

Question Number : 109 Question Id : 2752283522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hierd & Yftsfordieiel & Fafafead & 9 oF /8 SR A 8/8?

L.

1. TdeIRP

III.

Options :

1. % I dUTIII
2. 1, 11 YT I
3. % PHad I
4. % HadII



Question Number : 110 Question Id : 2752283523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Food consists of nutrients like

1. Vitamins
II. Water
[II. Minerals

Options :

1. # II and III
2. % Jand II
3.9 1, Il and 11T
4. % Jand III

Question Number : 110 Question Id : 2752283523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yo & Y U dd Bid ] |

IRCFEIEE]
I1. 9T
111, [

Options :

1. % I1dYUTIII
2. % IdYTII
3.9 1 I AT 1T
4, % 1dYUT I

Question Number : 111 Question Id : 2752283524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination(s) is/are correct?

I. Potatoes - Simple Carbohydrates



II. Honey - Simple Carbohydrates
III. Maize - Complex Carbohydrates
IV. Beans - Complex Carbohydrates

Options :

1. % I, Il and IV
2. % L IL Il and IV
3.% Il and IV

4, % 1,1l and III

Question Number : 111 Question Id : 2752283524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed & 3 & 9/ daier 981 8782
I. 3T - TR PIEIERSC

1. VB3 - Heg\orndfsl”sgc\
111 H&P - Sifed Hlargssc
IV. Bierd - Sifed Frafgsge
Options :

1. ¥ I, T QUT IV

2. % LI I AUTIV

3. % I I AATIV

4, % LI dYTIII

Question Number : 112 Question Id : 2752283525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following food(s) is/are rich in water content?

I. Tomato
II. Orange
III. Cucumber

Options :



1. 1, I and III
2. % Il and III
3. % Tand II

4. % Only III

Question Number : 112 Question Id : 2752283525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed ¥ @ SH-a1& ek U &1 461 RER 2722

[. THTCY
1L =T
111, TRT

Options :

1. L ITdUT I
2. % I dYTIII
3. % 14U

4. % Had III

Question Number : 113 Question Id : 2752283526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factor(s) determine the energy requirement of sportsman?

L. Type of sports
II. Body composition

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II



Question Number : 113 Question Id : 2752283526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ oF I/ $RE RS Bt SHoll B mawaddr & Huiid Harsd 3/8?

1. 9 & UBR
1. TRR BT T

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 114 Question Id : 2752283527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to rules established by International Olympic Committee, only are allowed to bid for and host the Olympic games.

I. Cities
II. Countries

Options :

1. ¥ Only I

2. % Only I

3. % BothlIandII
4. % Neither I nor II

Question Number : 114 Question Id : 2752283527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Siieifies TiAfd R RAftd ol & S8R , bad 1 51 Sfciftep Well & forg Scll T SR HoTa! B B AN B

IR
I a2t




Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 115 Question Id : 2752283528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In ancient Olympics, the first Olympics were held in 776 BC. In that Olympics there was only one event. What was that event?
Options :

1. * Discus

2. % Javelin

3. % Wrestling

4. ¥ Stade (Footrace)

Question Number : 115 Question Id : 2752283528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3ficifues H, g sficifues 776 ot AT, # Saifora fovan mam uT1 39 siidifie H sad U gt 3de g3 YT 98 Sdc DI 41 U
Options :

1. % &%y

2. % WiafeH

3. % PRl

4. ¢ LS (Hed)

Question Number : 116 Question Id : 2752283529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?



I. Anatomy is about function
II. Physiology is about structure

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 116 Question Id : 2752283529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PrafeEd o A 19 918 HyH 9 Tel 2/e?

1. YRR =T (TTeTH) B & SR H gt 8

11. TRR fopan (pfordiaron) e & R § gt 8
Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 117 Question Id : 2752283530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Glucose is made up of three elements. Which of the following is not among those elements?
Options :

1. ¥ Phosphorus

2. % Hydrogen

3. % Oxygen

4. % Carbon

Question Number : 117 Question Id : 2752283530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP Il M Tl | &1 g1l ¢ | FafciRad # Q&1 91 31 dcl § 3 781 82
Options :

1. ¥ BRBRY

2. % gISloH

3. % i

4. % PHIaH

Question Number : 118 Question Id : 2752283531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Atoms are made up of even smaller subatomic particles. Which of the following is/are those particles?

I. Proton
I1. Neutron
II1. Electron

Options :

1. % I, II and III
2. ® Il and III
3. % Tand II

4. % Only III

Question Number : 118 Question Id : 2752283531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRATY 3R Ht BT SIRAIGS H01 I &9 81d & | FEfaRad & ¥ & /A 98/d S0 8/8?

1. OieiA

1L g
11 ScId

Options :
1.« 1, I dUT 11T



2. % [ JUTIII
3. % 1dUTII
4. % Had 11

Question Number : 119 Question Id : 2752283532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On the basis of shape, Flat bone is one of the types of bone. Which of the following statement(s) is/are correct about Flat bone?

I. They are thin and curved
II. They are the protectors of internal organs
1. Femur, Carpals and Fibula are flat bones

Options :

l.¥ TandII

2. % Il and III
3. % Tand III

4. % [ Iland III

Question Number : 119 Question Id : 2752283532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR & 3MYR TR, U (Teie) 3R, 31U F USRI & J U 71 IUT (Ule) Y & IR H Fafefad & § o5 913 U= 981 8782

1. 3 gqait 3R aferd gt §

11 3 3fidRke 3T Y &b B &

1. BIR, BT 3R BIEEar 9uet (Fie) ifRuaf §
Options :

1. ¥ 1T

2. % 1Y

3. % QYU

4. % [ 1Y




Question Number : 120 Question Id : 2752283533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bone formation is the function of which of the following Bone Cell?
Options :

1. # Osteogenic cells

2. # Osteocytes

3. # Osteoclasts

4. ¥ Osteoblasts

Question Number : 120 Question Id : 2752283533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SifRy Frsfor Frfeirae & Q vy R B 1RIepT b1 v7ef 22
Options :

1. % SIRCYSIHD DIRIBT

2. % RS

3. % JifeaiaRey

4. ¢ AR IARH
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Group Number : 7
Group Id : 275228105
Group Maximum Duration : 0
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228233
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752283534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Ribs?

I. Each rib is a curved, flattened bone that contributes to the wall of the thorax
II. There are 12 pairs of ribs
III. Each rib ends in a costal cartilage

Options :

1. ¥ I, 1T and I1I
2. % Il and III
3. % Only I

4. % Jand 11

Question Number : 121 Question Id : 2752283534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl & Ta # Fafifed 7 4 o1 91/ &y I8 2/



1. U el U afehd, Iuct 31 g Sl 981 &1 SlaR H IRIGH &<l §
11 TR & 12 TS B &

111, YA T U IUTRY H JAT il &

Options :

1. ¥ 1, T QYT I

2. % [ QUTIII
3. % Had [11
4. % 1QUTII

Question Number : 122 Question Id : 2752283535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During physical activity, the circulatory system serves some important functions. Which of the following is/are those function(s)?

I. Delivers oxygen to active tissues
II. Transports heat, a byproduct of cellular metabolism, from the body’s core to the skin
III. Aerates blood returned to the lungs

Options :

1. ¥ I, I and I1I
2. % Il and IIT
3. % Tand II

4. % Tand III

Question Number : 122 Question Id : 2752283535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS Tfafafy & SRM, TRTIRY Yueh o8 He@yul o o= 3 | Fafafed § ¥ o9 a1 98/d s g/?

1. 9feha SHadl (active tissues) CARSICSISE] '~4§:tlldnl %
II. IR & Gd (18 W AT dP 3T BT URGE Bl §, Sl DIAB T AT 6T UG 8
111 BS! H Iad & 1oy derdl g

Options :
1. ¥ L 1T dYUT III




2. % [IdYrI
3.% 14Ul
4, % 1TdYT I

Question Number : 123 Question Id : 2752283536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pulmonary Ventilation is the act of breathing. It is dependent on three types of pressure. Which of the following statement(s) is/are correct about
those pressure?

L. ‘Atmospheric pressure’ is the amount of force that is exerted by gases in air surrounding any given surface, such as the body
II. Intra — alveolar pressure is the pressure of air within the alveoli, which changes during the process of breathing
III. Intrapleural pressure is the pressure of air within the pleural cavity, between the visceral and parietal pleurae

Options :

1. ¥ I, I and I1I
2. % Il and IIT
3. % Only I

4. % Only 1

Question Number : 123 Question Id : 2752283536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHE YaTdd 9 A o1 fa1 81 78 dH IR & gara R Rk 31 Fgfefad & @ &9 97/ &= 39 garal & deu 3§ 98l 8787

. AgHSH gara, fadt off Tag o fos TR, & SU @ gaT | T gRT @I ¢ §¢ &) AT §
1. 3fc: (SO1-UfIEIeR) aTd aTgeI R (Uit & iR g1 o1 gaTd §idT §, Sl Wik &+ & Ufsha & Gk sgedl &
111 31 3R AT 5T & §a Hopy 8T & YR 841 &1 gard 3d-Hrparavull Gad gidl §

Options :

1.+ 1, 11 dYT 111
2. % I dYrI
3. % Had Il

4. % Had 1




Question Number : 124 Question Id : 2752283537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the principle(s) of sports training?

I. The principle of Cyclicity
II. The principle of continuity
III. The principle of variety

Options :

1. ® Tand III

2. % Only II
3.9 1, Il and 11
4. % Il and III

Question Number : 124 Question Id : 2752283537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad 7 @ o1 918 wd ufkiam s1/e Rigid o/8?

1. Ihadl BT Rigid
11. RO &1 Rigia
111, fafaerar &1 Rigid

Options :

1. % T dYTIII

2. % had I
3.9 L I dUT 1T
4, % I dYT I

Question Number : 125 Question Id : 2752283538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Strength is a part and parcel of

I. Motor abilities



II. Technical skills
II1. Tactical actions

Options :

1. % I, II and III
2. % Tand II

3. % TandIII

4. % Il and III

Question Number : 125 Question Id : 2752283538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PENEI] &1 U 3gH R g

I HeR &wdl
o o SN
II. dplp] h[XR(cd

111, TTaRe fohar
Options :

1.¢ 1,11 aYT I
2. % 144l

3. % [dYTIII

4. % 11 dYT 11

Question Number : 126 Question Id : 2752283539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the factor(s) of Interval method of endurance training?

L. Intensity of stimulus (speed of work)
II. Density of stimulus (interval of recovery)
III. Duration of stimulus (duration of work)

Options :
1. # Tand III
2. % 1, I and 11T



3. % [T and III
4. % Only III

Question Number : 126 Question Id : 2752283539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad 7 3 o9 9/ fafden ufem &1 siarra fafyr &1/& RS 8/82

1. Rergas &t diaarn (@[ &t 71fa)
11. e &1 9@ (FaT=G Y BT 3HavTa)
111. Rerger &1 3afd (@ Bi 3afd)

Options :

1. % IdUT I
2.9 I, I dYTIII
3. % [IdYUTII
4. % FHad III

Question Number : 127 Question Id : 2752283540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the type(s) of training load?

I. Inner load
II. Outer load

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 127 Question Id : 2752283540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied & 4 &9 91/ URI&u YR $1/% UHR T8l 8/8?

1. 3faR® UR

I1. 91831 YR
Options :

1. % Had I

2. % HAd Il

3. % [ QYT ISl
4. TBIIATR I

Question Number : 128 Question Id : 2752283541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the principle governing the performance of Asanas.

I. Stability
II. Control

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 128 Question Id : 2752283541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T & UGRIH &1 TaTerd dH= arell Rigid o |

1. fRRRar
11, f=or

Options :
1. % FHadl
2. % Had I




3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 129 Question Id : 2752283542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the most important Bandhas?

I. Jalandhara
II. Uddiyana
III. Mula

Options :

1. # Il and III
2. % Only I

3. % Only II

4. 1,11 and 11T

Question Number : 129 Question Id : 2752283542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead o @ &9 918 9a9 Agayul e 8/8?

I. SITAER
1. IS
11 7

Options :

1. # II dYUTIII
2. % Had 1
3. % Pad Il

4. ¢ 1 11 dYTIII

Question Number : 130 Question Id : 2752283543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are not the way(s) to determine the fitness of an officiating official?

I. Body-mass index
II. Fitness or exercise programme

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 130 Question Id : 2752283543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pl 3 4 19 /A T WM HRGR &) fhead &1 RyRu &1 &1/ alierais 18 22

1. SIS-HY SS
11. T I AT HRIHH
Options :

1. % Had |
2. % Had Il
3. % [ UGl
4. TIRIIATR I

Question Number : 131 Question Id : 2752283544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the role(s) of a sports coach?

I. Providing an objective view to help teams and individuals enhance performance
II. Teaching rules, techniques and tactics to beginners

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 131 Question Id : 2752283544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad 7 3 i & e T Ul B yftre i g/

1. T 3R Afaadl &1 UeH dgM H Hag ®3- & oIl U IE-aqUl DD I0 Y& Bl
1. DRI %) Fram, daie SR HRifaat dam

Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 132 Question Id : 2752283545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The relationship between coach and athlete must not be

I. strong
II. built on mutual trust and respect
II1. unprofessional

Options :

1. ¢ Only I1I
2. % Only II
3. % Tand II
4. % II and III

Question Number : 132 Question Id : 2752283545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

URIeies 3R TYTIC & S oy EEEGIEIRY

. ASTad

1. TR fayr 3R I w fAfifa
111, 3fTadh

Options :

1. ¢ FHad I

2. % Had Il

3% 19yl

4. % IAYTII

Question Number : 133 Question Id : 2752283546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is not correct?

Options :

1. # Professional responsibility - General code ethics for sports officiating
2. ¥ Competence - General code ethics for sports officiating

3. % Accurate and responsible - Basic code of ethics for sports officiating

4. ¥ Concern for other’s welfare - Basic code of ethics for sports officiating

Question Number : 133 Question Id : 2752283546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # @ o 1 YaoH 98t T8l 82

Options :

1. % ARG ITREIUE - W MY & forg g Afde SR dfgar

2. % HRIMATE-LHdT - Ve RIFUF & foIe =g Afdes 3R dfgar

3. % AP 3R IR - WA RIFTIF & forg 7@ A SR g

4. GIRI & ST & forg Rifd g1 - W R & o Ja Al SR g




Question Number : 134 Question Id : 2752283547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the role(s) of a coach on and off the field?

I. Advisor

II. Facilitator

ITI. Demonstrator
I'V. Motivator

Options :

1. #® I Iland IV
2.% LI, Il and IV
3. % I Il and IV
4, % 1,1l and III

Question Number : 134 Question Id : 2752283547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFraffed ¥ @ B 91/R AeH & 3ie 3R TT6R T Ufierd &t Yisryufiier 8/2?

I. dcllgpR

1L gH-IGh
[11. UGRHGRY
V. IR®

Options :

1. % LIIdUTIv

2. LILITdYT IV
3% IL I AT IV
4, % [ I dYTIII

Question Number : 135 Question Id : 2752283548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is/are the principle(s) of officiating?

I. Keen observations

II. Physical and Mental Presence
III. Healthy atmosphere

IV. Absolute Integrity

Options :

1. ® [ IIland IV
2.9 L IL Il and IV
3. % Il and IV

4. % Il and III

Question Number : 135 Question Id : 2752283548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed # 9 S 918 RIFYE $1/d Rigid 8/8?

JIRCLRs CARRIfALY

1. ARING 3R AHRTE Iufyfd
1. Y drdraruf

IV. JUf TSt

Options :

1. % [ I dUT IV

2. 111, L AUT IV

3. % [IITAUTIV

4, % 11 dYUT I

Question Number : 136 Question Id : 2752283549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Psychology involves a lot of psychometric testing pertaining to a variety of processes and procedures in learning, perfection etc.” This statement
is related to which of the following topic of the content of educational psychology?

Options :



1. ¥ Memory
2. # Perception
3. ¢ Statistics, Measurement and Evaluation

4. # Learning theory

Question Number : 136 Question Id : 2752283549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR H e, ST enfe # faftrs veps aut feramfaferat & Teifta sgd IR Iree e Usiern mfid 8id § 1" 98 &y Qfed
TR & favaaeg & Fofofad 3 9 i fawa 3 J&fia 82

Options :

1% wfd

2. % Y[

3. ¢ iReT, ATIA 3R Yeids

4. % 3T gReegT

Question Number : 137 Question Id : 2752283550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Human behaviour is often categorized into which of the following?

I. Unlearnt and innate behaviour
II. Learnt or acquired behaviour

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 137 Question Id : 2752283550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



OTd agR &1 R Hafafad 7 9 ferad affed forar Srar g/g?

I. 3RIA® 3R TS HTER
1. Rferep a1 34 TasR
Options :

1. % Had I

2. % HAd Il

3. QYT 11 gl

4. % AT I

Question Number : 138 Question Id : 2752283551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simple reflexes are natural responses to

I. Light
II. Sound

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 138 Question Id : 2752283551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W ufaad & fore urpfaes wfaferant €1

I. UhIR[
I1. &g

Options :
1. % FHadl
2. % Had I



3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 139 Question Id : 2752283552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the stage(s) of growth?

I. Infancy

II. Childhood
III. Juvenile

IV. Adolescence

Options :

1. ¥ LI Il and IV
2. % Il and III

3. % I, Il and TV
4. % I, and IV

Question Number : 139 Question Id : 2752283552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o @ ®F O 3 o1 sra/s[awTy 3782

. QRaTaRT
1. STeaTa=yT
111. TP =IRTaRIT
1V, JIGTaRIT

Options :

1. LII, I ddT TV
2. % I dYTIII

3. % 00, [T ddT IV
4. % LIIdUTIV



Question Number : 140 Question Id : 2752283553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Law of effect’ is a law of learning. Which of the following statement(s) is/are correct about law of effect?

I. The principle of effect (outcome or consequence of an activity) is based on the emotional reaction of the student
II. It has a direct relationship to motivation

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 140 Question Id : 2752283553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUTG &1 R 3RRTH &1 o g 21 Fefifld & 9 oF 918 &= uya & FHaa & gef 3 a8l /2

1. 9HTa &1 Rigid (et nfafafd o1 ufvomm) o1 ot Yiadreds ufafsar iR snenfd glarg
1. ST IRUT ¥ Yef J&Y glal §

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I
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Question Number : 141 Question Id : 2752283554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Several motivational techniques and strategies are used by athletic coaches, physical educators to keep sportspersons motivated. Which of the
following is/are that/those technique(s)?

I. Goal — setting

II. Positive self talk

I11. Motivational music

IV. Using Intrinsic — Extrinsic motivation

Options :

1. # II, Il and IV
2. % Only I

3. % [, Il and III

4. ¢ 1,11 11l and IV



Question Number : 141 Question Id : 2752283554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 97 - Ry
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Options :

1. % II, HI T IV
2. % had III

3% LITAUT I

4. 111, I dIT IV

Question Number : 142 Question Id : 2752283555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the type(s) of sports anxiety?

I. State anxiety

II. Specific anxiety
II1I. Trait anxiety

I'V. Manifest anxiety

Options :

1.+ L I, Il and IV
2. % II, T and IV
3. % Tand IV

4. % Only IV

Question Number : 142 Question Id : 2752283555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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L IR YUl
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Options :

1. LII, I ddT TV
2. % IL I AUT IV
3. % ITAUTIV

4. % HId IV

Question Number : 143 Question Id : 2752283556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Colleges and universities should provide instruction in physical education program that meets the management criteria. Which of the following
are those management criteria?

I. The program should stress knowledge and understanding of the value of physical activity and its relationship to the environment
II. The program should focus on lifetime activities

II1. The program should be available to all students

IV. The program should include innovative features to meet the needs of students

Options :

1. % 1 I, Il and IV
2. % [Tand IV

3.% [l and IV

4, % 1,1l and III

Question Number : 143 Question Id : 2752283556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1,11, I AT IV

2. % [IAYUTIV

3. % [ aUT IV

4. % 1 1T

Question Number : 144 Question Id : 2752283557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Before an event or game, which of the following things must be thoroughly checked?

I. Equipment
II. Medical supervision
III. Ticketing

Options :

1. # Tand III

2. % Il and III
3. % Tand II

4, % 1,11 and III

Question Number : 144 Question Id : 2752283557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1qYTIII
2. % [1dYT I
3. % 14YUTII

4. ¢ 1, 11 dYUT 111

Question Number : 145 Question Id : 2752283558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination is not correct?
Options :

1. # Capital expenditure - Financial nature of budget
2. # Production - Nonmonetary nature of budget

3. # Profits - Operational nature of budget

4. ¥ Balance sheet - Nonmonetary nature of budget

Question Number : 145 Question Id : 2752283558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & I &I 91 JaieH et Tl 82
Options :

1. % GoINTd o - §oic ! A Uapfd
2. % JATEH - FoIc Pt ok Upid

3. % WY - §oIC &1 YRETe Uhid

4. U - §oIC B HecR Upid

Question Number : 146 Question Id : 2752283559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is/are the common basis of control?

I. Quantity - expressed in number (units) or any physical term
II. Quality - of products, services, benefits, utility
III. Time - as an essence of economy and effectiveness

Options :

1. % Tand III

2. % Il and III
3. % Only I

4, % 1,11 and III

Question Number : 146 Question Id : 2752283559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYTII

2. % 11 dUTIII

3. % Had Il

4. 1,11 YT I

Question Number : 147 Question Id : 2752283560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Management in action is probably most clearly identified in

I. Leadership
II. Directing

Options :
1. % Only I



2. % Only IT
3. % Both I and II
4, % Neither I nor I1

Question Number : 147 Question Id : 2752283560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foar ¥ e TG 9oy Wy U 9 H UgaHI STaT g |
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11. 9Te
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % 1B

Question Number : 148 Question Id : 2752283561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following element(s) describes leadership?

L. Influencing people
II. Attainment of goals which are common

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 148 Question Id : 2752283561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 149 Question Id : 2752283562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Biomechanics?

L. It is the study of the airflow in the athlete’s lungs and the strength of athlete’s tissues.
II. It is the study of forces and their effects on living systems

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 149 Question Id : 2752283562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Had 1




2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 150 Question Id : 2752283563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Most of the joints of appendicular skeleton are

I. Synovial joints
I1. Fibrous joints
II1I. Cartilaginous joints

Options :

1. * Only II

2. % Only I

3. % Only III

4. # Neither I nor II nor III

Question Number : 150 Question Id : 2752283563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. Had |

3. % a1

4. % AIGIATSI I ATS I



Question Number : 151 Question Id : 2752283564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When , then concentric muscle action occurs.

I. the flexor muscles are active and flexion occurs

II. the extensor muscles are active and extension occurs

III. the adductor muscles are active and abduction occurs

IV. the internal rotator muscles are active and internal rotation occurs

Options :

1. # LI, Il and IV
2. % I, Il and III
3.¥ [, Il and IV

4. % Il and IV

Question Number : 151 Question Id : 2752283564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% [ 10, 111 a7 IV

2. % [ [ GUTIII

3. LI TUTIV

4, % (I IUTIV

Question Number : 152 Question Id : 2752283565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During a leap, the jumper’s head stays at the same level but the center of gravity follows a



Options :

1. # hyperbolic path
2. ¥ parabolic path
3. % elliptical path
4. # circular path

Question Number : 152 Question Id : 2752283565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP AN & SR, Had ad B RR TH g1 TR W |1 § Alh [ATH Y0 BT hg T SRV BT & |
Options :

1. % 3ffquRade® Uy
2. ¢ IRAAKD TY

3. % HgaeR 9y
4. % qAGR Y

Question Number : 153 Question Id : 2752283566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Angular Inertia?

I. The property of an object to resist changes in its angular motion is known as angular inertia
II. Angular inertia is inversely proportional to the mass of the object

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 153 Question Id : 2752283566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % AT I

Question Number : 154 Question Id : 2752283567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?

I. Displacement is a straight line distance in a specific direction from initial position to final position
II. Displacement is a scalar quantity
II1. Velocity is the rate of motion in a specific direction

Options :

1. # Il and III
2. % Only I
3. % Tand II
4. % Only II

Question Number : 154 Question Id : 2752283567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % [ dYT I
2. % Had I
3% 19Ul
4. ¢ HAA I

Question Number : 155 Question Id : 2752283568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With which of the following displacement(s), direction is associated?

I. Angular Displacement
II. Linear Displacement

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 155 Question Id : 2752283568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 156 Question Id : 2752283569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about Testing Procedure for chin-ups?

I. The contestant must start from the straight arm position
II. The chinning over the bar must be observed carefully
II1. Feet must not be allowed to touch the ground in any case

Options :

1. * Tand III

2. % Only III

3. % Iland III
4.+ 1,11 and 111

Question Number : 156 Question Id : 2752283569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdYUTIII
2. % Hddl I
3. % I dYTIII
4. 1,11 QYT 11

Question Number : 157 Question Id : 2752283570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following involves agility of highest order?

I. Gymnastics



II. Diving
II1. Kho Kho

Options :

1. # T and III

2. % Only II

3. [ Il and III
4. % Il and III

Question Number : 157 Question Id : 2752283570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1dYUT 11
2. % Had Il
3.9 LI AUT I
4, % [T dYTII

Question Number : 158 Question Id : 2752283571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Environmental sanitation is one of the measures that help in prevention and control the spread of communicable diseases. Which of the following
statement(s) is/are correct about environmental sanitation?

I. Throw waste in dustbins to avoid breeding of flies
II. Regularly check the places where water is collected and has the possibilities of mosquito breeding

Options :
1. % Only I
2. % Only I



3.4 BothIand II
4. % Neither I nor 11

Question Number : 158 Question Id : 2752283571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 dUTI Gl

4. % qIGIIATR I

Question Number : 159 Question Id : 2752283572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is not correct?

I. Avulsion - Skin injury

II. Strain - Soft tissue injury
Options :

1. # OnlyI

2. % Only I

3. %* Bothland I

4. ¥ Neither I nor II

Question Number : 159 Question Id : 2752283572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 160 Question Id : 2752283573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who wrote the ‘origin of species’?
Options :

1. # Henry Thoreau

2. ¥ Charles Darwin

3. % John Muir

4. ® Ralph Emerson

Question Number : 160 Question Id : 2752283573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. ¢ Tl SifdA

3. % SRR

4. % P THIA



Discipline4

Group Number : 9

Group Id : 275228107

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 275228197

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228235

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752283574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the function(s) of forests?

I. Absorption of solar heat during evapo-transpiration
II. Holding soil (by preventing rain from directly washing soil away)



III. Maintenance of soil nutrients and structure
IV. Prevent flash floods and soil erosion

Options :

1. LIL I and IV
2. % [Tand IV

3. % I, I and III

4. % Only IV

Question Number : 161 Question Id : 2752283574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1,11, [ AT IV

2. % [IAUTIV

3. % 1[I dYTIII

4. % Had v

Question Number : 162 Question Id : 2752283575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can you do to save electricity?

I. Keep the bulbs and tubes clean. Dust on tubes and bulbs decreases lightning levels by 20 to 30 percentage
II. Turn off lights and fans as soon as you leave the room

Options :
1. % Only I
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 162 Question Id : 2752283575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 163 Question Id : 2752283576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Non-degradable pollutant?
Options :

1. # Discarded vegetables

2. % Domestic sewage

3. % DDT

4. ¥ Mercury

Question Number : 163 Question Id : 2752283576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % fAR1pd gfesrai



2. ¥ TR A
3. % 1813
4. ¥ ORI

Question Number : 164 Question Id : 2752283577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the point source(s) of pollution?

I. Municipal and Industrial discharge pipes
II. Acid rain
1. Agricultural runoff

Options :

1. # Il and III
2. % Tand III
3. % Only I
4. % Only I

Question Number : 164 Question Id : 2752283577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [1dYTIII
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4. % FHad I



Question Number : 165 Question Id : 2752283578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the major consideration(s) in the modern educational process?

I. Man
I1. Material
II1. Method

Options :

1. # Tand III

2. % 1, Il and 11T
3. % Only II

4. % Il and III

Question Number : 165 Question Id : 2752283578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. fad
1. it
1. fafe

Options :
1. % T dYTIII
2. [ 11 dYTIII

3. % Had II

4. % T dUT I

Question Number : 166 Question Id : 2752283579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct?



I. A method of teaching is a general way of guiding a learning experience.
II. A technique is the method of performance of a skill or part of it.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 166 Question Id : 2752283579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. % [ QYT ISl
4. TBIIATR I

Question Number : 167 Question Id : 2752283580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following material(s) is/are used in physical education?

I. Blackboard
II. Bulletin boards

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 167 Question Id : 2752283580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHad |

2. % Had I

3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 168 Question Id : 2752283581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is not correct about Audio — Visual aids?

Options :

1. ¥ The aid should be used merely because it is available

2. # The aid should be timely used towards particular point of the concerned lesson rather than keeping it vague
3. # The aid should aim towards the purpose

4. ® The aid may be selected only after the objectives for which it is needed is known

Question Number : 168 Question Id : 2752283581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 2752283582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Project method helps physical education teachers in organising

I. Maths test

II. Picnics

III. Treks

IV. Athletic meets

Options :

1. % I, Il and IV
2. % [Tand IV

3. ¥ 11, Il and IV
4, % 1,1l and III

Question Number : 169 Question Id : 2752283582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfareT fafd Iifes e et ot P 3T H Heg Bl gl

1. TIOTd &t Ut
1. fUsfe

111 <h Y

V. Qyaifess Hie

Options :

1% LIIdUTIv
2. % MdUT1IvV
3.V IL I AT IV
4, % I, I dYT I

Question Number : 170 Question Id : 2752283583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following principle(s) may be helpful to a teacher in respect to ‘Anticipation’?

I. Anticipate the need for motivation. This principle applies to the introduction of new activities as well as to the on-going learning situations.
II. Anticipate the need for facilities and equipment because they contribute quite a lot to making teaching-learning a success.
II1. Anticipate accidents which might occur in the showers, lockers, dressing rooms, fields and pools and provide safety measures.

Options :

1. % 1, 1l and III
2. % Only II

3. % Only III
4. % Il and III

Question Number : 170 Question Id : 2752283583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. I, 1 aUT I

2. % Had Il

3. % Pad III

4. % 11 dYT I

Question Number : 171 Question Id : 2752283584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a fundamental maxim of teaching which must necessarily be followed by every teacher?
Options :



1. ¥ Make yourself familiar with the general age characteristics of your pupils
2. % Blend the formal and informal elements
3. % Constant evaluation smoothens the way to progress

4. ¥ Proceed from simple to complex, concrete to abstract, unknown to known

Question Number : 171 Question Id : 2752283584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ &9 a1 e &1 qayd Jiad T & ot e Ude Ried &) ifard 9 ¥ &A1 91igw?
Options :

1. % 3O faenliat ot w3y faxivdrer ¥ o &1 uRfrd s

2. % ARG 3R SRS ddl ol B

3. % fAROR geaiced WiIfa & AN &1 YH §H1aT1 8

4. TA Y Afed, RA U 3, =10 J1d B 3R I

Question Number : 172 Question Id : 2752283585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is/are the special feature(s) of teaching individual sports that must remain under the focus of all physical education
teachers?

I. Skill practices in individual sports (boxing, wrestling, gymnastics etc.) can be organized in groups also. This will require matching individuals
on ability, strength or skill level to ensure fair play.

II. Complete understanding of activity, its meaningful and sustained practice and proper analysis are the three basic procedural pillars of efficient
learning of individual sports.

Options :

1. % Only 1

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 172 Question Id : 2752283585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dhad |

2. % Had I

3. ¢ 1 qUT I A

4. % A IAIE I

Question Number : 173 Question Id : 2752283586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Players need to take decisions in different conditions and situations; that ability helps them to improve their thinking.” This statement describes
which of the following importance of Physical education?

Options :

1. # Emotional Development
2. ¥ Intellectual Development
3. % Physical Fitness

4. % Constructive use of leisure time

Question Number : 173 Question Id : 2752283586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el o faft ufkfRufaal ok gremdl & fofa an o) sexd 81t ©; 98 & I 3o RidH & A & Aeg ol 31 I8 B
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Options :

1. % YIgTdS fammr

2. ¢ g fawr




3. % YRING ftheag
4, % W Y BT I9ATHS IR

Question Number : 174 Question Id : 2752283587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The outstanding development of physical education in pre-independence India goes to the Y.M.C.A, college of Physical Education Madras.
YMCA was founded by .

Options :

1. ¥ H. C. Buck

2. % Jawahar Lal Nehru
3. % Robert Clive

4. % Mahatama Gandhi

Question Number : 174 Question Id : 2752283587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TaAd gd HRd B IR Rien &1 Ipy fawry ars.uq. 3t v, Irifve Rie o1 wiast ey & SfidT § | 978, TH 31T, &1 R
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Options :

1. ¢TI 9

2. % SAIER d1d A&

3. % IqC Fazd

4. % TETET Wi

Question Number : 175 Question Id : 2752283588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. In Rigveda the usage of the word ‘Yunjate’ suggest an idea of yog for sense control
II. Vishwamitra taught Ram and Lakshmana the art of yog and pranayama

Options :



1. % Only I

2. % Only II

3.4 BothIand II
4. #® Neither I nor II

Question Number : 175 Question Id : 2752283588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ & I/ U9 I8t 8/8?
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Options :

1. % Had 1

2. % Had Il

3. ¢ [ QYT I gl

4. % I I

Question Number : 176 Question Id : 2752283589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘The different sciences contribute variously to the determination of principles.” Which of the following statement(s) satisfies the given statement?

I. Anatomy provides information regarding the use of foot in walking
II. Physiology presents the facts of respiratory need
III. Anthropology offers an explanation for movements of climbing and hanging

Options :

1. ¥ I, I and I1I
2. % Only I

3. % ITand III
4. % Tand II



Question Number : 176 Question Id : 2752283589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafira fasm Rigial & FeRor & fafdy =0 9 aiem ¢ 1 Fafafed 3 3 oF 9178 3 AU U ST & Widhd HRal/add 8/8?
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Options :

1.« 1, 11 ddT 11T
2. % had I

3. % I dUT I
4, % 1dYUTII

Question Number : 177 Question Id : 2752283590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. Physical education should stress the development of a strong abdominal musculature
II. Physical education should watch the conditions of athletes in order to detect staleness
II1. Physical education should require an adequate medical examination of all participants

Options :

1. ¥ [, Il and III
2. % Iland III
3. % Tand II

4. % Only III

Question Number : 177 Question Id : 2752283590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. [ ITdUT I
2. % I dYTIII
3.% 14T

4. % Had III

Question Number : 178 Question Id : 2752283591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the example(s) of projectile(s) in sports?

I. A squash ball in flight
II. A basketball in flight

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 178 Question Id : 2752283591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FPrafifed § @ H-91A Od § UAH $1/% ISe0 2/8?

I. IS H U W ard
1. 38H H U dbeard
Options :

1. % FHad 1

2. % Had Il



3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 179 Question Id : 2752283592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the attribute(s) of an organisation?

I. Instrumentality

II. Permanency

II1. Delegation of power
I'V. Identity

Options :

1. ¥ LI Il and IV
2. % Il and III

3. % I, Il and III

4. % Only IV

Question Number : 179 Question Id : 2752283592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofifad & O S 91/ T WTe- /& 0 8/8?

1. SUHT
1. R
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Options :

1. LII, I ddT TV
2. % I dYTIII

3% LITAUTII

4. % pad IV



Question Number : 180 Question Id : 2752283593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination(s) is/are correct?

I. Mott-Lockhart Test — Table Tennis
II. Russell-Lange Test — Volleyball

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 180 Question Id : 2752283593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed 9 eH-a13 ¥areH 98 8/6?
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Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl

4. % qEIIATR I

Discipline5
Group Number : 10
Group Id : 275228108
Group Maximum Duration : 0
Group Minimum Duration : 120

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 275228198

Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228236

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752283594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In long jump, distance is measured from

Options :

1. ¥ end of takeoff board to the nearest mark made by the jumper in the pit

2. % start of takeoff board to the nearest mark made by the jumper in the pit
3. #* end of takeoff board to the farthest mark made by the jumper in the pit
4. % start of takeoff board to the farthest mark made by the jumper in the pit

Question Number : 181 Question Id : 2752283594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ CH3IHH a1 o 3fd Y 7Tg H SR gRI I8 T Fhead F=mH a6

2. % CHIAP dIs B YIATT I Tg H SR GRI I T Hdhedd = de
3. % THIAHH A & 3d I Tg T TR GRT §E ¢ gRad = b

4. % THAD 1S DI YIATT W Tg T SR gRT §AN T grad =14 I

Question Number : 182 Question Id : 2752283595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In high jump, competitors jump unaided over a metre long horizontal bar.
Options :

1.¥4

2. %35

3.%5

4. %25

Question Number : 182 Question Id : 2752283595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1 5/ |, yfaantt ez deft afas ugt & SW A f51 Geadr & Fed 3
Options :

1.¥ 4

2. %35

3.%5

4. %25

Question Number : 183 Question Id : 2752283596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a position in 3 position shooting events?
Options :



1. % Standing
2. ¥ Sitting
3. #¥ Kneeling

4. % Prone

Question Number : 183 Question Id : 2752283596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 3 o @ 3 dieheF YfeT 3de &1 Ue e gl 62
Options :

1. % L&

2. ¢ Ryt

3. % Sifef

4. % U

Question Number : 184 Question Id : 2752283597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In gymnastics, the width of vaulting table is cm.
Options :

1. % 85

2. %105

3. % 120

4.+ 95

Question Number : 184 Question Id : 2752283597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forie e o, dlecii cad &l Aels 9. M. g 5
Options :

1. % 85



2. % 105
3. % 120
4.4 95

Question Number : 185 Question Id : 2752283598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players are present on the court at a time in a handball team?
Options :

1. * 8

2.%9

3. % 10

4. ¥ 7

Question Number : 185 Question Id : 2752283598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U® g8aid <1 # U IR | fhar Raarsl oi¢ = 3ufd gld g2
Options :

1. 8

2.%9

3. % 10

4.9 7

Question Number : 186 Question Id : 2752283599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a sprint?

I. 100 meters
I1. 200 meters

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 186 Question Id : 2752283599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed 7 3 oF @ ue RBicg?

1. 100 HIcR
I1. 200 HicR

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 187 Question Id : 2752283600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the height of each hurdle in the women’s 100 meters hurdle race?
Options :

1. % 942 cm

2. % 838 cm

3. % 91.2cm

4, % 88.6 cm

Question Number : 187 Question Id : 2752283600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A3t &t 100 He g8 SIS A YD god &l SHTs fbd-l Bidl 82




Options :

1. % 942 7M.
2. ¢ 83.8 9.
3. % 9129
4. % 88,69

Question Number : 188 Question Id : 2752283601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many games are there in a table tennis match?
Options :

1.%3

2.% 5

3.% 7

4. ¥ Any number of odd games

Question Number : 188 Question Id : 2752283601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ¢qd ¢ 79 1 fovae T 8Id 62
Options :

1. %3

2.% 5

3.% 7

4.+ T Bl I it fawg T=

Question Number : 189 Question Id : 2752283602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding badminton?



I. The side winning a rally serves in the next point
II. Player must serve diagonally

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 189 Question Id : 2752283602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JSftie & o ¥ Fafafed o 9 o 9198t 82
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11. Faest &) fore Td S anfgu

Options :

1. % Had 1

2. % HAd Il

3. [ QYT ISl

4. % qEIIATE I

Question Number : 190 Question Id : 2752283603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In tennis, during a tie-break game, players shall change ends after every points.
Options :

1. %3

2.% 5

3.6

4. %38

Question Number : 190 Question Id : 2752283603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U, U eR-9F WA & R, Faarfsal & uds 3ieh &P dIc R IS B o
Options :

1. %3

2.% 5

3.6

4. % 8

Question Number : 191 Question Id : 2752283604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which generation of computers used the transistors?
Options :

1. * First

2. % Second

3. * Third

4. * Fourth

Question Number : 191 Question Id : 2752283604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh g Uit o el § Tiforex o1 W o Ut
Options :

1. % ggail

2. ¢ G

3. % dil

4. % rft

Question Number : 192 Question Id : 2752283605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a secondary storage of a computer?

I. Hard disks
II. Compact disks

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 192 Question Id : 2752283605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ¥ o B TR BT Vb S WRS 72

1. gTe fot
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Options :

1. % Had 1

2. % HAd Il

3. ¢ 1 UGl
4. % qEIIATE I

Question Number : 193 Question Id : 2752283606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of view of an MS Word document?

I. Read mode
II. Print Layout
II1. Outline

Options :
1. ®¥ Tand II



2. % Il and 1L
3. % Jland lII
4.+ 1,11 and III

Question Number : 193 Question Id : 2752283606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifed & ¥ o 1 TH.0Y. 98 SiRgie & of &1 Uh UBR 87

LS s
1. flic q3mse

II. AT3 g
Options :

1. % IddTII

2. % 11 dYTIII
3. % 1dYUTIII
4. 1 11 dYT I

Question Number : 194 Question Id : 2752283607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which the following shortcut is used to bold the selected cells in MS Excel?
Options :

1. ¥ Ctrl + B

2. % Cul+H

3. % Ctrl + A

4. % Cul+G

Question Number : 194 Question Id : 2752283607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Ctrl + B
2. % Ctrl+H
3. % Cul+ A
4. % Cul+G

Question Number : 195 Question Id : 2752283608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shortcut is used to add a new slide to an MS Powerpoint presentation?
Options :

1. % Shift + M

2.9 Cul+ M

3. % Ctrl + N

4. % Shift+ N

Question Number : 195 Question Id : 2752283608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.TY, UTaRUTge UoiexH § U 715 WSS Siieq & fore fRuferad # T fog Widehe &1 IuanT far Sirar g2
Options :

1. # Shift + M

2.¥ Ctrl + M

3. % Ctrl + N

4. % Shift + N

Question Number : 196 Question Id : 2752283609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following shortcut key is used to print in MS Powerpoint?
Options :

1. ¥ Ctrl + P



2. % Ctrl +1J
3. # Shift+P
4. % Shift+]J

Question Number : 196 Question Id : 2752283609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH.09. Ulardrse § fife &+ & forg fafafad o 3 forg iicame ot &1 SuanT fodm oirar 82
Options :

1. ¥ Ctrl + P

2. % Ctrl +1J

3. # Shift+P

4. % Shift+1]J

Question Number : 197 Question Id : 2752283610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct regarding a wrestling match?
Options :

1. # Three periods of 3 minutes

2. # Three periods of 2 minutes

3. % Two periods of 5 minutes

4. ¥ Two periods of 3 minutes

Question Number : 197 Question Id : 2752283610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% % T Ha % Yol A PigRRd A A S ad &
Options :

1. % 3 fiFe & diF dias

2. % 2 fiFe  dH Uiae



3. % 5 e & g1 dius
4. ¢ 3 e & QY difas

Question Number : 198 Question Id : 2752283611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIBA mens light weight category has over kg to kg.

Options :

1. % 52;56
2. ¥ 56; 60
3. % 49;52
4. % 60; 64

Question Number : 198 Question Id : 2752283611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, S, ff. T 4o P geob aoi i & fos m. & wamer fo5. 1. 9 BT B
Options :

1. % 52;56

2. ¥ 56; 60

3. % 49;52

4. % 60; 64

Question Number : 199 Question Id : 2752283612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the duration of a men’s kabaddi match?
Options :

1. # 4 quarters of 15 minutes each

2. % 2 halves of 20 minutes each

3. % 2 halves of 15 minutes each

4. # 4 quarters of 10 minutes each



Question Number : 199 Question Id : 2752283612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & Udh dhag! Hd &1 3fafd a1 gt 82

Options :

1. % U 15 e & 4 BIR
2. ¢ Ud® 20 T & 2 8%
3. % JI® 15 HC & 2 8T

4. % U 10 fHAC & 4 HIR

Question Number : 200 Question Id : 2752283613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many substitutions per team are allowed in a hockey match?
Options :

1. %3

2. % 7

3.% 10

4. % No limit

Question Number : 200 Question Id : 2752283613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl Fg H ufa A7 b gefreger @t erHfd 2
Options :

1. %3

2.% 7

3.% 10

4. ¥ D3 AT 8



